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¬˝‡Ÿ ¬ÈÁSÃ∑§Ê / QUESTION BOOKLET ß‚ ¬⁄UËˇÊÊ ¬ÈÁSÃ∑§Ê ∑§Ê Ã’ Ã∑§ Ÿ πÊ‹¥
¡’ Ã∑§ ∑§„Ê Ÿ ¡Ê∞–
Do not open this test booklet until
you are asked to do so.

1. ¬˝‡Ÿ ¬òÊ ∑§Ê „‹ ∑§⁄UŸ ‚ ¬„‹, ∑Î§¬ÿÊ •¬ŸË ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ë ¡Ê°ø ∑§⁄¥U •ÊÒ⁄U ‚ÈÁŸÁ‡øÃ ∑§⁄¥U Á∑§ —

- ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ë ∑˝§◊ ‚¥ÅÿÊ ‚◊ÊŸ „Ò–
- ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ∑§ ‚÷Ë ¬Îc∆U ∆UË∑§ ‚ ◊ÈÁŒ˝Ã „Ò •ÊÒ⁄U ‚÷Ë ¬Îc∆UÊ¥ ¬⁄U ‚Ê⁄U ¬˝‡Ÿ ◊ÈÁŒ˝Ã „Ò–

Á∑§‚Ë ÷Ë Áfl‚¥ªÁÃ/ŒÊ· ∑§ ◊Ê◊‹ ◊¥, •èÿÕË¸ ∑§Ê ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ê ’Œ‹Ÿ ∑§ Á‹∞ ÃÈ⁄¥UÃ •Á÷¡Êª⁄U ∑§Ê ◊Ê◊‹ ∑§Ë ‚ÍøŸÊ ŒŸË
øÊÁ„∞– ¬⁄UËˇÊÊ ¬˝Ê⁄Uê÷ „ÊŸ ∑§ ¬Ê°ø Á◊Ÿ≈U ’ÊŒ ß‚ ‚¥’¥œ ◊¥ Á∑§‚Ë ÷Ë ŒÊfl/•Ê¬ÁÃ ¬⁄U ÁfløÊ⁄U Ÿ„Ë¥ Á∑§ÿÊ ¡Ê∞ªÊ–  ß‚∑§ Á‹∞ •èÿÕË¸ ©ûÊ⁄UŒÊÿË „ÊªÊ–
Before attempting the question paper, kindly check your Question Booklet (QB) and O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB) and O.M.R. Answer Sheet is same.

- All pages and all questions are properly printed.

In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question Booklet (QB) and O.M.R.
Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination, candidate will be liable for the same.

2. •Ê.∞◊.•Ê⁄.U ©ûÊ⁄U-¬òÊ∑§ ∑§ ¬Ë¿U ÁŒ∞ ª∞ ‚÷Ë ÁŸŒ¸‡Ê ¬…∏¥–
Read all instructions on the reverse of O.M.R. Answer Sheet.

3. •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ∑§fl‹ ŸË‹ ’ÊÚ‹ åflÊß¥≈U ¬Ÿ ∑§Ê ¬˝ÿÊª ∑§⁄¥U– ∑Î§¬ÿÊ, •Ê.∞◊.•Ê⁄.U ©ûÊ⁄U-¬òÊ∑§ ◊¥ •¬ŸÊ ⁄UÊ‹ Ÿ¥’⁄U •ÊÒ⁄U •ãÿ ¡ÊŸ∑§Ê⁄UË ‚„Ë …¥Uª ‚
÷⁄¥U–
On O.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in O.M.R. Answer Sheet.

4. ¬̋àÿ∑§ ¬̋‡Ÿ ◊¥ ¬Ê°ø Áfl∑§À¬/ªÊ‹ „Ò¥– ¬„‹ øÊ⁄U Áfl∑§À¬/ªÊ‹ A, B, C •ÊÒ⁄U D ©¬ÿÈÄÃ ©ûÊ⁄U ‚ ‚¥’¥ÁœÃ „Ò¥ •ÊÒ⁄U ¬Ê°øflÊ° Áfl∑§À¬/ªÊ‹Ê ‘E’ “•ŸÈûÊÁ⁄UÃ ¬̋‡Ÿ” ‚ ‚¥’¥ÁœÃ „Ò–
Each question has five options/circles. First four options/circles A, B, C and D are related to appropriate answer and fifth option/circle ‘E’ is related to ‘Question
not attempted’.

5. ‚„Ë ©ûÊ⁄U Œ‡ÊÊ¸Ÿ ∑§ Á‹∞ •èÿÕË¸ ∑§Ê •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ‚¥’¥ÁœÃ ¬˝‡Ÿ ‚¥ÅÿÊ ∑§ ¬„‹ øÊ⁄U Áfl∑§À¬ A, B, C ÿÊ D ◊¥ ‚ ∑§fl‹ ∞∑§ Áfl∑§À¬/ªÊ‹ ∑§Ê ŸË‹
’ÊÚ‹ åflÊß¥≈U ¬Ÿ ‚ ÷⁄UŸÊ „ÊªÊ– ÿÁŒ •èÿÕË¸ Á∑§‚Ë ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U Ÿ„Ë¥ ŒŸÊ øÊ„ÃÊ „Ò ÃÊ ¬Ê°øfl¥ Áfl∑§À¬/ªÊ‹ ‘E’ ∑§Ê ª„⁄UÊ ∑§⁄UŸÊ „ÊªÊ–
To indicate the correct answer, the candidate has to fill in only one option/circle A, B, C or D with blue ball point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer any question then the fifth option/circle ‘E’ should be darkened.

6. ÿÁŒ ¬Ê°ø Áfl∑§À¬Ê¥ ◊¥ ‚ ∑§Êß¸ ÷Ë Áfl∑§À¬/ªÊ‹Ê ª„⁄UÊ Ÿ„Ë¥ Á∑§ÿÊ ªÿÊ ÃÊ ¬˝‡Ÿ ∑§Ê 1/3 ÷Êª •¥∑§ ∑§Ê≈U Á‹ÿÊ ¡ÊÿªÊ–

1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.

7. 10 ¬˝ÁÃ‡ÊÃ ‚ •Áœ∑§ ¬˝‡ŸÊ¥ ◊¥ Á∑§‚Ë ÷Ë Áfl∑§À¬/ªÊ‹ ∑§Ê •èÿÕË¸ mÊ⁄UÊ ª„⁄UÊ Ÿ„Ë¥ Á∑§ÿÊ ªÿÊ ÃÊ ©‚ ¬⁄UËˇÊÊ ∑§ Á‹∞ •ÿÊÇÿ ÉÊÊÁ·Ã ∑§⁄U ÁŒÿÊ ¡Ê∞ªÊ–
If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.

8. •èÿÕË¸ ∑§Ê ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ Á‹∞ ∑§◊ ‚ ∑§◊ ∞∑§ Áfl∑§À¬/ªÊ‹Ê ÷⁄UÊ „Ò ÿÊ Ÿ„Ë¥ ÿ„ ‚ÈÁŸÁ‡øÃ ∑§⁄UŸ ∑§ Á‹∞ 10 Á◊Ÿ≈U •ÁÃÁ⁄UÄÃ ÁŒ∞ ¡Ê∞°ª–
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

9. ÿÁŒ ¬˝‡Ÿ ∑§ Á„ãŒË ÿÊ •¥ª˝¡Ë ‚¥S∑§⁄UáÊ ◊¥ ◊ÈŒ˝áÊ ÿÊ ÃâÿÊà◊∑§ ¬˝∑Î§ÁÃ ∑§Ë Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë •S¬c≈U/ª‹ÃË „Ò, ÃÊ •¥ª˝¡Ë ‚¥S∑§⁄UáÊ ∑§Ê •¥ÁÃ◊ ◊ÊŸÊ ¡Ê∞ªÊ–
If there is any sort of ambiguity/mistake either of printing or factual in nature in Hindi or English version of questions, then the English Version will be treated as
final.

10. ¬⁄UËˇÊÊ „ÊÚ‹ ◊¥ ◊Ê’Êß¸‹ »§ÊŸ/é‹Í≈ÍUÕ Á«UflÊß‚ ÿÊ Á∑§‚Ë •ãÿ ß‹Ä≈˛UÊÚÁŸ∑§ ªÒ¡≈U ∑§Ê ©¬ÿÊª ‚ÅÃ flÁ¡¸Ã „Ò– ÿÁŒ Á∑§‚Ë •èÿÕË¸ ∑§ ¬Ê‚ ∞‚Ë ∑§Êß¸ ¬˝ÁÃ’¥ÁœÃ ‚Ê◊ª˝Ë
¬Êß¸ ªß¸ ÃÊ ©‚∑§ ÁflL§h ÁŸÿ◊ÊŸÈ‚Ê⁄U ‚ÅÃ ∑§Ê⁄U¸flÊß¸ ∑§Ë ¡Ê∞ªË–

Use  of Mobile Phone/Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited.  If any such prohibited material is found with

any candidate, strict action will be taken against him/her as per rules.

øÃÊflŸË — ÿÁŒ ∑§Êß¸ •èÿÕË¸ Ÿ∑§‹ ∑§⁄UÃ „È∞ ¬ÊÿÊ ¡ÊÃÊ „Ò ÿÊ •ŸÈÁøÃ Ã⁄UË∑§ •¬ŸÊÃ „È∞ ¬ÊÿÊ ¡ÊÃÊ „Ò ÿÊ ©‚∑§ ¬Ê‚ ∑§Êß¸ •ŸÊÁœ∑Î§Ã ‚Ê◊ª˝Ë ¬Êß¸ ¡ÊÃË „Ò ÃÊ ©‚∑§
Áπ‹Ê»§ ¬ÈÁ‹‚ S≈U‡ÊŸ ◊¥ ∞»§.•Êß¸.•Ê⁄U. Œ¡¸ ∑§Ë ¡Ê∞ªË •ÊÒ⁄U fl„ ⁄UÊíÿ ‚Êfl¸¡ÁŸ∑§ ¬⁄UËˇÊÊ •ÁœÁŸÿ◊, 2022 •ÊÒ⁄U ‚¥‡ÊÊœŸ •ÁœÁŸÿ◊ 2023, (÷ÃË¸ ◊¥ •ŸÈÁøÃ ‚ÊœŸÊ¥
∑§Ë ⁄UÊ∑§ÕÊ◊ ∑§ •äÿÈ¬Êÿ) ∑§ Ã„Ã ◊È∑§Œ◊Ê ø‹ÊŸ ∑§ Á‹∞ ©ûÊ⁄UŒÊÿË „ÊªÊ Á¡‚◊¥ 10 fl·¸ ‚ •Ê¡ËflŸ ∑§Ê⁄UÊflÊ‚ ÃÕÊ ` 10 ∑§⁄UÊ«∏ Ã∑§ ∑§Ê ¬˝ÊflœÊŸ „Ò– ©‚ ’Ê«¸U ∑§Ë
÷Áflcÿ ∑§Ë ‚÷Ë ¬⁄UËˇÊÊ•Ê¥ ‚ SÕÊÿË M§¬ ‚ ÁflflÁ¡¸Ã ÷Ë Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–
Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.I.R. will be lodged against him/her
in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for Preventions of Unfair Means in Recruitment) Act.
2022 and Amendment Act, 2023. The act has provisions of imprisonment of 10 years to life and fine up to ̀  10 crore. Board may also debar him/her permanently from
all future examinations conducted by the Board.
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‚◊ÿ/ ÉÊ¥≈U
Time : Hours3

¬ÍáÊÊZ∑§/Maximum Marks : 200

¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡ŸÊ¥ ∑§Ë ‚¥ÅÿÊ/
Number of Questions in Booklet : 150

¬ÈÁSÃ∑§Ê ◊¥ ¬Îc∆UÊ¥ ∑§Ë ‚¥ÅÿÊ/
Number of Pages in Booklet : 40
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1. “• + • = •Ê” ÿ„ Á∑§‚ ¬˝∑§Ê⁄ ∑§Ë ‚¢Áœ ∑§Ê ©ºÊ„⁄áÊ „Ò?

(A) Áfl‚ª¸ ‚¢Áœ (B) Sfl⁄ ‚¢Áœ (C) √ÿ¢¡Ÿ ‚¢Áœ

(D) ªÈáÊ ‚¢Áœ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

2. Choose the most appropriate word to fill in the blank in the given sentence.

The bus service is very good. There is a bus __________ ten minutes.

(A) each (B) every (C) any

(D) most (E) Question not attempted

3. Select the teratogens and other factors that affect prenatal growth :

(a) Non-prescribed illegal drugs (b) Excessive quantity of cafeine

(c) Protein-rich diet (d) Extreme heat and humidity

(e) Milk and milk products

Choose the most appropriate answer from the options given below :

(A) (c) and (e) only (B) (a), (c) and (d) only (C) (b) and (d) only

(D) (a), (b) and (d) only (E) Question not attempted

©Ÿ ≈⁄≈Ù¡ã‚ fl •ãÿ ∑§Ê⁄∑§Ù¥ ∑§Ê øÿŸ ∑§ËÁ¡∞ ¡Ù ¡ã◊¬Ífl¸ flÎÁh (ª˝ÊÕ) ∑§Ù ¬˝÷ÊÁflÃ ∑§⁄Ã „Ò —

(a) •¬⁄Ê◊Á‡Ê¸Ã ªÒ⁄∑§ÊŸÍŸË ºflÊ∞° («˛Ç‚) (b) ∑Ò§»§ËŸ ∑§Ë •àÿÁœ∑§ ◊ÊòÊÊ

(c) ¬˝Ù≈ËŸ ‚ê¬ÛÊ •Ê„Ê⁄ (d) •àÿÁœ∑§ ª◊Ë¸ •ÊÒ⁄ •ÊŒ˝¸ÃÊ

(e) ºÍœ •ÊÒ⁄ ºÍœ ∑§ ©à¬Êº

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (c) •ÊÒ⁄ (e) (B) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (b) •ÊÒ⁄ (d)

(D) ∑§fl‹ (a), (b) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

4. Choose the most appropriate option to fill in the blank in the given sentence.

They are very kind to me. They treat me __________ their own son.

(A) like I am (B) as if I was (C) as if I will be

(D) as if I were (E) Question not attempted

5. P, E, R, S, T are sitting, on a bench facing North. T and E are sitting together. T and R  are also
sitting together. P is on extreme left. E is second from extreme right. Who is sitting between P and
E ?

(A) R and S (B) T and S (C) R and T

(D) T and E (E) Question not attempted

P, E, R, S, T ∞∑§ ’ãø ¬⁄ ©ûÊ⁄ ∑§Ë •Ê⁄ ◊Èπ ∑§⁄∑§ ’Ò∆ „Ò¥– T •ÊÒ⁄ E ‚ÊÕ ’Ò∆ „Ò¥– T •ÊÒ⁄ R ÷Ë ‚ÊÕ ’Ò∆ „Ò¥– P ø⁄◊ ’Ê°ÿ¥
¬⁄ „Ò– E ø⁄◊ ºÊ°ÿ¥ ‚ ºÍ‚⁄ SÕÊŸ ¬⁄ „Ò– P •ÊÒ⁄ E ∑§ ’Ëø ◊¥ ∑§ıŸ ’Ò∆Ê „Ò?

(A) R •ÊÒ⁄ S (B) T •ÊÒ⁄ S (C) R •ÊÒ⁄ T

(D) T •ÊÒ⁄ E (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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6. Which of the following are the tasks of a supervisor in Integrated Child Development Services
(ICDS) ?

(a) Contacting village leaders and important persons.

(b) Organising community meetings.

(c) Selection of Anganwadi workers and helpers.

(d) Provide formal education to the children of the village.

Choose the most appropriate answer from the options given below :

(A) (a), (b), (c) and (d) (B) (b), (c) and (d) only (C) (a), (c) and (d) only

(D) (a), (b) and (c) only (E) Question not attempted

Integrated Child Development Services (ICDS) ◊¥ ÁŸ⁄ËˇÊ∑§ (‚È¬⁄flÊßïÊ⁄) ∑§ ∑§Êÿ¸ ∑§ıŸ-∑§ıŸ ‚ „Ò¥?
(a) ªÊ°fl ŸÃÊ•Ù¥ •ÊÒ⁄ ◊ÈÅÿ √ÿÁÄÃÿÙ¥ ‚ ‚¥¬∑¸§ SÕÊÁ¬Ã ∑§⁄ŸÊ–
(b) ‚Ê◊ÈºÊÁÿ∑§ ’Ò∆∑§Ù¥ ∑§Ê •ÊÿÙ¡Ÿ ∑§⁄ŸÊ–
(c) •Ê°ªŸflÊ«∏Ë üÊÁ◊∑§Ù¥ •ÊÒ⁄ ‚„Êÿ∑§Ù¥ ∑§Ê øÿŸ ∑§⁄ŸÊ–
(d) ªÊ°fl ∑§ ’ìÊÙ¥ ∑§ Á‹∞ •ÊÒ¬øÊÁ⁄∑§ Á‡ÊˇÊÊ ¬˝ºÊŸ ∑§⁄ŸÊ–
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a), (b), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d)
(D) ∑§fl‹ (a), (b) •ÊÒ⁄ (c) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

7. An item is sold for ` 400 after allowing 20% discount. What would have been its selling price if
only 10% discount is allowed ?

∞∑§ flSÃÈ ∑§Ù 20% ∑§Ë ¿ÍU≈ ∑§ ’Êº ` 400 ◊¥ ’øÊ ¡ÊÃÊ „Ò– ÿÁº ß‚ ¬⁄ Á‚»¸§ 10% ∑§Ë ¿ÍU≈ ºË ¡ÊÃË ÃÙ ß‚∑§Ê Áfl∑˝§ÿ ◊ÍÀÿ
ÄÿÊ „ÙÃÊ?
(A) ` 410 (B) ` 420 (C) ` 440

(D) ` 450 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

8. Which conclusion would follow on the basis of given statement ?

Statement : The manager humiliated Mukesh in the presence of his colleagues.

Conclusions : I. The manager did not like Mukesh.

II. Mukesh was not popular with his colleagues.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(A) Only I follows (B) Only II follows

(C) Neither I nor II follows (D) Both I and II follow

(E) Question not attempted

Áº∞ ª∞ ∑§ÕŸÙ¥ ∑§ •ÊœÊ⁄ ¬⁄ ∑§ıŸ ‚Ê ÁŸc∑§·¸ •ŸÈ‚⁄áÊ ∑§⁄ªÊ?
∑§ÕŸ — ◊ÒŸ¡⁄ Ÿ ◊È∑§‡Ê ∑§Ù ©‚∑§ ‚„∑§Á◊¸ÿÙ¥ ∑§Ë ©¬ÁSÕÁÃ ◊¥ •¬◊ÊÁŸÃ Á∑§ÿÊ–
ÁŸc∑§·¸ — I. ◊ÒŸ¡⁄ ◊È∑§‡Ê ∑§Ù ¬‚ãº Ÿ„Ë¥ ∑§⁄ÃÊ ÕÊ–

II. ◊È∑§‡Ê •¬Ÿ ‚„∑§Á◊¸ÿÙ¥ ∑§ ’Ëø ‹Ù∑§Á¬˝ÿ Ÿ„Ë¥ ÕÊ–
©¬⁄ÙÄÃ ∑§ÕŸÙ¥ ∑§ •Ê‹Ù∑§ ◊¥, ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–
(A) ∑§fl‹ I •ŸÈ‚⁄áÊ ∑§⁄ªÊ (B) ∑§fl‹ II •ŸÈ‚⁄áÊ ∑§⁄ªÊ
(C) ŸÊ ÃÙ I •ÊÒ⁄ ŸÊ „Ë II •ŸÈ‚⁄áÊ ∑§⁄ªÊ (D) ºÙŸÙ¥ I •ÊÒ⁄ II •ŸÈ‚⁄áÊ ∑§⁄¥ª
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ



❀ B62 4

9. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ •Ÿ∑§ÊÕ¸∑§ ‡Êéº ∑§ •Õ¸ - ’Í°º, ∑§áÊ, ‡ÊÍãÿ, Áøq •ÊÁº „Ò¥?

(A) Á’¢ºÈ (B) ’^Ê (C) Á’¢ºË

(D) ◊ÈŒ˝Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

10. Match List-I with List-II :

List-I List-II

Vitamin Function

(a) Vitamin K (i) Normal immune system function and production of cells in eye (retina)

(b) Vitamin E (ii) Absorption of calcium in the body

(c) Vitamin A (iii) Antioxidant

(d) Vitamin D (iv) Blood clotting

‚ÍøË-I ∑§Ù ‚ÍøË-II  ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

Áfl≈ÊÁ◊Ÿ ∑§Êÿ¸

(a) Áfl≈ÊÁ◊Ÿ K (i) •Ê°π (⁄Á≈ŸÊ) ∑§Ë ∑§ÙÁ‡Ê∑§Ê•Ù¥ ∑§Ê ©à¬ÊºŸ •ÊÒ⁄ ‚Ê◊Êãÿ ¬˝ÁÃ⁄ˇÊË ¬˝áÊÊ‹Ë ∑§Êÿ¸

(b) Áfl≈ÊÁ◊Ÿ E (ii) ‡Ê⁄Ë⁄ ◊¥ ∑Ò§ÁÀ‡Êÿ◊ ∑§Ê •fl‡ÊÙ·áÊ

(c) Áfl≈ÊÁ◊Ÿ A (iii) ¬˝ÁÃ-•ÊÚÄ‚Ë∑§Ê⁄∑§ (∞ã≈Ë •ÊÚÄ‚Ë«Uã≈)

(d) Áfl≈ÊÁ◊Ÿ D (iv) L§Áœ⁄ S∑¢§ºŸ (é‹«U Ä‹ÊÚÁ≈¢ª)
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) (B) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(C) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) (D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

11. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚ ‡ÊÈh flÊÄÿ „Ò¥?

(a) ◊≈⁄ ◊¥ „⁄Ê œÁŸÿÊ «UÊ‹Ê ªÿÊ– (b) ‚È’„-‚È’„ √ÿÊÿÊ◊ ∑§⁄ŸÊ øÊÁ„∞–

(c) ©Ÿ∑§Ê •Ê¬‚ ◊¥ ŸÙ¥∑§-¤ÊÙ¥∑§ „ÙÃÊ ⁄„ÃÊ „Ò– (d) ∑§◊⁄ ∑§Ê ¿UÃ ŸËø •Ê Áª⁄Ê–

(e)  ◊Ò¥ ¬ÈSÃ∑§ ¬…U∏ ⁄„Ë „Í°–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (b), (c), (d) (B) ∑§fl‹ (a), (b), (e) (C) ∑§fl‹ (a), (c), (e)

(D) ∑§fl‹ (c), (d), (e) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

12. Á¡Ÿ œÊÃÈ•Ù¥ ∑§Ê ¬˝ÿÙª •∑§◊¸∑§ •ÊÒ⁄ ‚∑§◊¸∑§ ºÙŸÙ¥ M§¬Ù¥ ◊¥ „ÙÃÊ „Ù, ©ã„¥ ∑§ıŸ ‚Ë œÊÃÈ ∑§„Ã „Ò¥?

(A) ◊Í‹ œÊÃÈ (B) ÿıÁª∑§ œÊÃÈ (C) ¬˝⁄áÊÊÕ¸∑§ œÊÃÈ

(D) ©÷ÿÁflœ œÊÃÈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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13. Maternity Benefit Amendment Act 2017 focuses on :  (Choose the most appropriate answer)

(A) The need for care of children only up to two years.

(B) The need for care of children under three years.

(C) The need for care of children only up to one year.

(D) The need for care of children from three to five years.

(E) Question not attempted

◊ÊÃÎàfl ‹Ê÷ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊ 2017 ß‚ ¬⁄ ∑§ÁãŒ˝Ã „Ò —  (ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U øÈŸ¥)

(A) ∑§fl‹ ºÙ fl·¸ Ã∑§ ∑§ ’ìÊÙ¥ ∑§Ë ºπ÷Ê‹ ∑§Ë •Êfl‡ÿ∑§ÃÊ

(B) ÃËŸ fl·¸ ‚ ∑§◊ ©◊˝ ∑§ ’ìÊÙ¥ ∑§Ë ºπ÷Ê‹ ∑§Ë •Êfl‡ÿ∑§ÃÊ

(C) ∑§fl‹ ∞∑§ fl·¸ Ã∑§ ∑§ ’ìÊÙ¥ ∑§Ë ºπ÷Ê‹ ∑§Ë •Êfl‡ÿ∑§ÃÊ

(D) ÃËŸ ‚ ¬Ê°ø fl·¸ Ã∑§ ∑§ ’ìÊÙ¥ ∑§Ë ºπ÷Ê‹ ∑§Ë •Êfl‡ÿ∑§ÃÊ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

14. At what rate of simple interest, a certain sum will increase by upto 36% in 3 years ?

‚ÊœÊ⁄áÊ éÿÊ¡ ◊¥, ∞∑§ ÁŸÁpÃ ⁄ÊÁ‡Ê, ÃËŸ fl·¸ ∑§ ‚◊ÿ ◊¥ Á∑§‚ º⁄ ‚ 36% Ã∑§ ’…U∏ ¡Ê∞ªË?
(A) 9% (B) 10% (C) 12%

(D) 18% (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

15. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

Á„¢ºË ‡Êéº (¬ÊÁ⁄÷ÊÁ·∑§ ‡Êéº) •¢ª˝¡Ë ¬˝ÿÙª

(a) π¢«U (i) Appellant

(b) ‚¢Á„ÃÊ (ii) Clause

(c) •Á÷ÿÈÄÃ (iii) Code

(d) •¬Ë‹∑§ÃÊ¸ (iv) Accused

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (B) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(C) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) (D) (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

16. Deficiency of Vitamin D causes :

(A) Rickets (B) Cancer (C) Night Blindness

(D) Anaemia (E) Question not attempted

Áfl≈ÊÁ◊Ÿ-«UË ∑§Ë ∑§◊Ë ‚ „ÙŸ flÊ‹ ⁄Ùª ∑§Ù ¬„øÊÁŸ∞–

(A) ‚ÍπÊ ⁄Ùª (Á⁄U∑§≈˜‚) (B) ∑§∑¸§≈ ⁄Ùª (∑Ò§ã‚⁄U) (C) ⁄ÃıãœË

(D) ⁄ÄÃÊÀ¬ÃÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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17. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

¬ÊÁ⁄÷ÊÁ·∑§ •¢ª˝¡Ë ‡Êéº Á„¢ºË ¬˝ÿÙª

(a) Abstract (i) ∑§Êÿ¸-◊Ê◊‹

(b) Affairs (ii) ∑§Êÿ¸flÊ„∑§

(c) Acting (iii) ‚Ê⁄

(d) Advice (iv) ‚‹Ê„

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii) (B) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

(C) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

18. “Áª⁄Ë‡Ê” ‡Êéº ∑§Ê ‚’‚ ©¬ÿÈÄÃ ‚¢Áœ-Áflë¿Uº ÁŸêŸ „Ò -

(A) Áª + ⁄ß¸‡Ê (B) Áª⁄ + ß¸‡Ê (C) Áª + ß¸‡Ê

(D) ÁªÁ⁄ + ß¸‡Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

19. Identify the diseases caused by worms in human beings.

(a) Ringworm (b) Amoebiasis (c) Ascariasis

(d) Elephantiasis

Choose the most appropriate answer from the options given below :

(A) (a) and (b) only (B) (c) and (d) only (C) (b), (c) and (d) only

(D) (a), (b) and (c) only (E) Question not attempted

◊ÊŸfl ◊¥ ∑Î§Á◊ ‚ „ÙŸ flÊ‹ ⁄ÙªÙ¥ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞ —-

(a) Á⁄¢ªfl◊¸ (b) •◊ËÁ’∞Á‚‚ (c) ∞S∑§Á⁄∞Á‚‚

(d) ∞Á‹»§Áã≈∞Á‚‚

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (a) •ÊÒ⁄ (b) (B) ∑§fl‹ (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (b), (c) •ÊÒ⁄ (d)

(D) ∑§fl‹ (a), (b) •ÊÒ⁄ (c) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

20. Choose the most appropriate option in the passive form for the sentence given.

People advised us not to go out alone.

(A) To get out alone is not advisable. (B) We were given the advise to not go alone.

(C) I was advised not to go out alone. (D) We were advised not to go out alone.

(E) Question not attempted
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21. Match List-I with List-II :

List-I List-II

(a) If something is moving, it is alive (i) Reflex action

(b) Grasping, sucking, blinking (ii) Animistic thinking

(c) Deferred imitation (iii) Infancy

(d) Cognitive theory (iv) Piaget

‚ÍøË-I ∑§Ù ‚ÍøË-II  ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

(a) ÿÁº ∑§Ùß¸ ªÁÃ◊ÊŸ „Ò ÃÙ ÿ„ ¡ËÁflÃ „Ò (i) ¬˝ÁÃflÃË¸ Á∑˝§ÿÊ

(b) ¬∑§«∏ŸÊ, øÍ‚ŸÊ, ¬‹∑§ ¤Ê¬∑§ŸÊ (ii) ‚¡Ëfl ‚Ùø

(c) SÕÁªÃ Ÿ∑§‹ (iii) ‡ÊÒ‡ÊflÊflSÕÊ

(d) ‚¢ôÊÊŸÊà◊∑§ Á‚hÊãÃ (iv) Á¬ÿÊ¡
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii) (B) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

(C) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii) (D) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

22. Match List-I with List-II :

List-I List-II

Word Synonyms

(a) accomplish (i) rude

(b) cordial (ii) foolish

(c) arrogant (iii) achieve

(d) absurd (iv) friendly

Choose the most appropriate answer from the options given below :

(A) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) (B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(C) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (D) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

(E) Question not attempted

23. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚ •‡ÊÈh ‡Êéº „Ò¥?

(a) ¬Èáÿ (b) ¬˝Ê¢ªáÊ (c) ¬˝ÁÃ∑È§‹

(d) ŸËflÎÃË (e) ¬⁄ËÁáÊÃË

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (a), (b), (c) (B) ∑§fl‹ (b), (c), (d) (C) ∑§fl‹ (c), (d), (e)

(D) ∑§fl‹ (a), (c), (e) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

24. ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ê¥ ◊¥ ‚ “•ÁŸ‹ - •Ÿ‹” ‡Êéº - ÿÈÇ◊ ∑§Ê ‚’‚ ©¬ÿÈÄÃ •Õ¸ „Ò -

(A) •ÁªA - ¬flŸ (B) ¬Èc¬ - ŸË⁄ (C) „flÊ - •Êª

(D) ‚ÈflÊ‚ - ÃÍ»§ÊŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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25. Which of the following is not associated with malnutrition ?
(A) Scurvy (B) Rickets (C) Cancer
(D) Anaemia (E) Question not attempted

ÁŸêŸ ◊¥ ‚ ∑§ıŸ ‚Ê ∑È§¬Ù·áÊ ‚ ‚¥’¢ÁœÃ Ÿ„Ë¥ „Ò?
(A) S∑§flË¸ (B) Á⁄∑§≈˜‚ (C) ∑Ò§ã‚⁄
(D) ⁄ÄÃÊÀ¬ÃÊ (∞ŸËÁ◊ÿÊ) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

26. Till what age the reproductive organs of  human female are NOT fully mature and the female
hormones are also NOT at the optimum level ?
(A) 17 years (B) 19 years (C) 21 years
(D) 25 years (E) Question not attempted

Á∑§‚ •ÊÿÈ Ã∑§ ◊ÊŸfl ◊ÊºÊ ∑§ ¬˝¡ŸŸ •¢ª ¬Í⁄Ë Ã⁄„ ‚ ¬Á⁄¬Äfl Ÿ„Ë¥ „ÙÃ „Ò¥ •ÊÒ⁄ ◊ÊºÊ „Ê◊Ù¸ã‚ ÷Ë ßc≈UÃ◊ SÃ⁄ ¬⁄ Ÿ„Ë¥ „ÙÃ „Ò?
(A) 17 fl·¸ (B) 19 fl·¸ (C) 21 fl·¸
(D) 25 fl·¸ (E)  •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

27. What is the importance of immunization for a child ?  Select most appropriate answer from
below :
(A) It protects children from obesity.
(B) It prevents children from getting diseases for which there are often no medical treatments.
(C) It prevents children from unhealthy environment.
(D) It prevents children from getting infected.

(E) Question not attempted

∞∑§ ’ìÊ ∑§ Á‹∞ ¬˝ÁÃ⁄ˇÊÊ∑§⁄áÊ ∑§Ê ÄÿÊ ◊„àfl „Ò?  ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U øÈŸ¥ —
(A) ÿ„ ’ìÊÙ¥ ∑§Ù ◊Ù≈Ê¬ ‚ ’øÊÃÊ „Ò–
(B) ÿ„ ’ìÊÙ¥ ∑§Ù ©Ÿ ⁄ÙªÙ¥ ‚ ’øÊÃÊ „Ò ¬˝Êÿ— Á¡Ÿ∑§Ê ÁøÁ∑§à‚Ëÿ ©¬øÊ⁄ Ÿ„Ë¥ „Ò–
(C) ÿ„ ’ìÊÙ¥ ∑§Ù •SflSÕ flÊÃÊfl⁄áÊ ‚ ’øÊÃÊ „Ò–
(D) ÿ„ ’ìÊÙ¥ ∑§Ù ‚¢∑˝§◊áÊ „ÙŸ ‚ ’øÊÃÊ „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

28. Identify the category of organized child care from the following :
(a) Babysitter at home
(b) Kindergarten
(c) Creches
(d) Preschools
Choose the most appropriate answer from the options given below :
(A) (a) and (c) only (B) (b) and (d) only (C) (a), (c) and (d) only
(D) (b), (c) and (d) only (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ’ìÊÙ¥ ∑§ ºπ÷Ê‹ ∑§ Á‹∞ √ÿflÁSÕÃ flª¸ ∑§Ù ¬„øÊÁŸ∞–
(a) ÉÊ⁄ ¬⁄ ’ìÊÙ¥ ∑§Ë ºπ÷Ê‹ ∑§ Á‹∞ •ÊÿÊ/ºÊß¸
(b) Á∑§ã«U⁄ªÊ≈¸Ÿ
(c) ∑˝§ø (Á‡Ê‡ÊÈ ªÎ„)
(d) ¬Ífl¸ ÁfllÊ‹ÿ
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ∑§fl‹ (a) •ÊÒ⁄ (c) (B) ∑§fl‹ (b) •ÊÒ⁄ (d) (C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d)
(D) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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29. “ªªŸøÈê’Ë” ‚Ê◊ÊÁ‚∑§ ¬º ÁŸêŸ ◊¥ ‚ Á∑§‚ ‚◊Ê‚ ∑§Ê ‚’‚ ©¬ÿÈÄÃ ©ºÊ„⁄áÊ „Ò?

(A) Ãà¬ÈL§· ‚◊Ê‚ (B) mãm ‚◊Ê‚ (C) ’„Èfl˝ËÁ„ ‚◊Ê‚

(D) •√ÿÿË÷Êfl ‚◊Ê‚ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

30. In an examination, 40% marks are required to pass. A obtains 10% marks less than those required

to pass. B obtains marks 
1

11 %
9

 less than those of A, while C obtains 
3

41 %
17

 marks less than sum

of A and B together. What percentage of marks has C obtained ?

∞∑§ ¬⁄ËˇÊÊ ∑§Ù ¬Ê‚ ∑§⁄Ÿ ∑§ Á‹∞ 40 ¬˝ÁÃ‡ÊÃ •¢∑§Ù¥ ∑§Ë •Êfl‡ÿ∑§ÃÊ „Ò– A ∑§Ù ¬Ê‚ ∑§⁄Ÿ ∑§ Á‹∞ •Êfl‡ÿ∑§ •¢∑§Ù¥ ◊¥ 10%

•¢∑§ ∑§◊ ¬˝ÊåÃ „È∞–  B ∑§Ù A ‚  
1

11 %
9

 ∑§◊ •¢∑§ ¬˝ÊåÃ „È∞, ¡’Á∑§ C ∑§Ù A •ÊÒ⁄ B ∑§ ÿÙª ‚   
3

41 %
17

∑§◊ •¢∑§ ¬˝ÊåÃ

„È∞– C ∑§Ù Á∑§ÃŸ ¬˝ÁÃ‡ÊÃ •¢∑§ ¬˝ÊåÃ „È∞?
(A) 50 (B) 40 (C) 35

(D) 45 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

31. Mahesh is ranked 15th from the bottom. When counted from the top, he is ranked 35th. What is the
total number of students in the class ?

◊„‡Ê ∑§Ê SÕÊŸ ŸËø ‚ ªáÊŸÊ ∑§⁄Ÿ ¬⁄ 15flÊ° „Ò •ÊÒ⁄ ¡’ ‡ÊË·¸ ‚ ªáÊŸÊ ∑§Ë ¡Ê∞ ÃÙ 35flÊ° „Ò¥– ∑§ˇÊÊ ◊¥ ∑È§‹ ÁfllÊÁÕ¸ÿÙ¥ ∑§Ë
‚¢ÅÿÊ Á∑§ÃŸË „Ò?
(A) 49 (B) 50 (C) 51

(D) 48 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

32. Match List-I with List-II :

List-I List-II

Word Antonyms

(a) barren (i) hope

(b) despair (ii) rigid

(c) flexible (iii) arrogant

(d) humble (iv) fertile

Choose the most appropriate answer from the options given below :

(A) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) (B) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(C) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) (D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(E) Question not attempted

33. “•Ã‹ - •ÃÈ‹” ‡Êéº-ÿÈÇ◊ ∑§Ê/∑§ ‚’‚ ©¬ÿÈÄÃ •Õ¸ ÁŸêŸÊ¢Á∑§Ã Áfl∑§À¬Ê¥ ◊¥ ‚ ∑§ıŸ ‚Ê/‚ „Ò/„Ò¥?

(a) Á¡‚∑§Ë ÃÈ‹ŸÊ Ÿ „Ù ‚∑‘ (b) Á¡‚ ≈Ê‹Ê Ÿ ¡Ê ‚∑‘ (c) ‚ËÁ◊Ã

(d) Ã‹„ËŸ

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (b) •ÊÒ⁄ (a) (B) ∑§fl‹ (d) •ÊÒ⁄ (a) (C) ∑§fl‹ (a)

(D) ∑§fl‹ (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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34. AIDS is caused by :

(a) Sexual contact with infected person

(b) Transfusion of contaminated blood

(c) From infected mother to child

(d) Sharing bed and clothes

Choose the most appropriate answer from the options given below :

(A) (b), (c) and (d) only (B) (b) and (d) only (C) (a), (b) and (c) only

(D) (a), (c) and (d) only (E) Question not attempted

AIDS „ÙŸ ∑§ ∑§Ê⁄áÊÊ¥ ∑§Ê øÿŸ ∑§⁄¥–

(a) ‚¢∑˝§Á◊Ã ⁄ÙªË ‚ ‹Ò¥Áª∑§ ‚¢¬∑¸§ ’ŸÊŸ ‚

(b) ºÍÁ·Ã ⁄ÄÃ •ÊœÊŸ mÊ⁄Ê

(c) ‚¢∑˝§Á◊Ã ◊ÊÃÊ ‚ ‚¢ÃÊŸ ∑§Ù

(d) Á’SÃ⁄ ÃÕÊ ∑§¬«∏ ‚Ê¤ÊÊ ∑§⁄Ÿ ‚

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (b) •ÊÒ⁄ (d) (C) ∑§fl‹ (a), (b) •ÊÒ⁄ (c)

(D) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

35. Which of the following is not true with respect to malnutrition ?

(A) Severe protein deficiency in children in the age group of 6 months to 3 years may cause
atrophy of muscles and stunted growth.

(B) It is the intake of adequate quantity of food required by the body.

(C) It is the inadequate intake of food both in quantity and quality.

(D) Protein Energy Malnutrition mostly affects infants and children.

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ∑È§¬Ù·áÊ ∑§ ‚ãº÷¸ ◊¥ ‚„Ë Ÿ„Ë¥ „Ò?

(A) 6 ◊Ê„ ‚ 3 fl·¸ Ã∑§ ∑§ •ÊÿÈ flª¸ ∑§ ’ìÊÙ¥ ◊¥ ¬˝Ù≈ËŸ Á∑§ ª„Ÿ ∑§◊Ë ‚ ◊Ê°‚¬‡ÊË OÊ‚ •ÊÒ⁄ •flL§h flÎÁh „ÙÃË „Ò–

(B) ‡Ê⁄Ë⁄ ∑§ mÊ⁄Ê •Êfl‡ÿ∑§ ÷Ù¡Ÿ ∑§Ë ©ÁøÃ ◊ÊòÊÊ ∑§Ù ª˝„áÊ ∑§⁄ŸÊ–

(C) ÿ„ •¬ÿÊ¸åÃ ◊ÊòÊÊ ÃÕÊ ªÈáÊflûÊÊ ◊¥ ÷Ù¡Ÿ ∑§Ù ª˝„áÊ ∑§⁄ŸÊ–

(D) ¬˝Ù≈ËŸ ™§¡Ê¸ ∑È§¬Ù·áÊ •Áœ∑§Ã⁄ Á‡Ê‡ÊÈ•Ù¥ •ÊÒ⁄ ’ìÊÙ¥ ∑§Ù ¬˝÷ÊÁflÃ ∑§⁄ÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

36. “◊È_Ë ª⁄◊ ∑§⁄ŸÊ” ◊È„Êfl⁄ ∑§Ê ‚’‚ ©¬ÿÈÄÃ •Õ¸ „Ò —

(A) „ÊÕ ‚¥∑§ŸÊ (B) ∆¢«U ‚ ’øŸÊ (C) ÉÊÍ‚ ºŸÊ

(D) ◊Ê⁄¬Ë≈ ∑§⁄ŸÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

37. Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

Though the film had __________ bad review, I quite liked it.

(A) the (B) a (C) an

(D) no article (E) Question not attempted
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38. “¡„Ê° πÊŸÊ ◊ÈçÃ Á◊‹ÃÊ „Ò” flÊÄÿπ¢«U „ÃÈ ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ∞∑§ ‡Êéº ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) •ÊÒ·œÊ‹ÿ (B) ‚ºÊfl˝Ã (C) •ÛÊÊªÊ⁄
(D) ’È÷È̌ ÊÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

39. When is an immunization card prepared for a newborn to get vaccinated ?
(A) At the age of six months (B) At the age of six weeks
(C) At the age of nine weeks (D) Immediately after birth
(E) Question not attempted

∞∑§ Ÿfl¡ÊÃ ∑§ Á‹∞ flÒÄ‚ËŸ ¬˝ÊåÃ ∑§⁄Ÿ ∑§ Á‹∞ ¬˝ÁÃ⁄ˇÊÊ∑§⁄áÊ ∑§Ê«¸U ∑§’ ’ŸÊÿÊ ¡ÊÃÊ „Ò?
(A) ¿U„ ◊Ê„ ∑§Ë •ÊÿÈ ¬⁄ (B) ¿U„ ‚åÃÊ„ ∑§Ë •ÊÿÈ ¬⁄
(C) Ÿı ‚åÃÊ„ ∑§Ë •ÊÿÈ ¬⁄ (D) ¡ã◊ ∑§ ÃÈ⁄¢Ã ¬pÊÃ˜
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

40. Complete the sentence below by choosing the most appropriate prefix from the given, options
below :
It was not just rudeness; they were completely __________ efficient too.
(A) ill (B) un (C) in
(D) over (E) Question not attempted

41. Choose the missing terms, out of the given alternatives.

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ∑§ Á‹∞ ªÊÿ’/‹ÈåÃ ¬ºÙ¥ ∑§Ê øÿŸ ∑§ËÁ¡∞–
A3Z, B8Q, E15J, J24E,  ?,   Z48A
(A) Q35B (B) R35B (C) Q36C

(D) R36C (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

42. Which of the following commissions has been mandated to monitor the implementation of POCSO
Act, 2012 ?

ÁŸêŸ ◊¥ ‚ Á∑§‚ •ÊÿÙª ∑§Ù POCSO •ÁœÁŸÿ◊, 2012 ∑§ ©ÁøÃ ¬˝∑§Ê⁄ ‚ ‹ÊªÍ „ÙŸ ∑§Ë ºπ÷Ê‹, ∑§ ∑§Êÿ¸ ‚ ÁŸº¸Á‡ÊÃ
Á∑§ÿÊ ªÿÊ „Ò?
(A) NCPCR (B) RTE (C) RPWD

(D) NPAC (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

43. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚ flÊÄÿ ∑§ÃÎ¸flÊëÿ ∑§ ©ºÊ„⁄áÊ „Ò¥?
(a) ‚ÈŸÒŸÊ ŸÎàÿ ∑§⁄ÃË „Ò– (b) •¢¡ŸÊ ‚ ’Ò∆Ê Ÿ„Ë¥ ¡ÊÃÊ– (c) ¡ÿÊ ‚ ∑È§¿U ∑§„Ê Ÿ„Ë¥ ¡ÊÃÊ–
(d) ⁄◊‡Ê …UÙ‹∑§ ’¡ÊÃÊ „Ò– (e) •Á÷Ÿfl ‡ÊÃ⁄¢¡ π‹ÃÊ „Ò–
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§fl‹ (a), (b), (c) (B) ∑§fl‹ (b), (c), (e) (C) ∑§fl‹ (a), (d), (e)
(D) ∑§fl‹ (b), (c), (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

44. Most toddlers learn about __________ words between the ages of two and three years.

•Áœ∑§Ã⁄ Á‡Ê‡ÊÈ ºÙ ‚ ÃËŸ fl·¸ ∑§Ë •ÊÿÈ ◊¥ ‹ª÷ª  __________  ‡Êéº ‚Ëπ ¡ÊÃ „Ò¥–
(A) 500 (B) 300 (C) 100

(D) 200 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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45. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

•¢ª˝¡Ë ‡Êéº Á„¢ºË ¬˝ÿÙª

(a) Assignment (i) •ŸÈ¬˝◊ÊáÊŸ

(b) Bonafide (ii) ©ìÊÃ◊ ‚Ë◊Ê

(c) Attestation (iii) ÁŸÿÃ ∑§Êÿ¸

(d) Ceiling (iv) flÊSÃÁfl∑§

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii) (B) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(C) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) (D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

46. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I  ‚ÍøË II

‡Êéº ¬ÿÊ¸ÿflÊøË ‡Êéº

(a) ‚⁄SflÃË (i) ÃŸÈ¡

(b) ¬ÈòÊ (ii) ⁄Ê¡Ê

(c) ‚ÙŸÊ (iii) flÊÇºflË

(d) ŸÎ¬ (iv) ∑§Ÿ∑§

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (B) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(C) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) (D) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

47. “¬˝ªÀ÷” ∑§Ê ¬ÿÊ¸ÿflÊøË ‡Êéº ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê Ÿ„Ë¥ „Ò?

(A) ÁflÅÿÊÃ (B) •„¢∑§Ê⁄Ë (C) •Á÷◊ÊŸË

(D) º¢÷Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

48. Match List-I with List-II :

List-I List-II

Word Synonyms

(a) Aberration (i) Unnecessary

(b) Perpetual (ii) Plentiful

(c) Redundant (iii) Constant

(d) Abundant (iv) Deviation

Choose the most appropriate answer from the options given below :

(A) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (B) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(C) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) (D) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(E) Question not attempted
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49. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§◊¸flÊëÿ ∑§ ©ºÊ„⁄áÊ „Ò¥ -

(a) •Ê◊ πÊÿÊ ¡ÊÃÊ „Ò– (b) ⁄Ê¡Ëfl ¬Ê∆‡ÊÊ‹Ê ¡ÊÃÊ „Ò– (c) Ã’‹Ê ’¡ÊÿÊ ¡ÊÃÊ „Ò–

(d) ªËÃ ªÊÿÊ ¡ÊÃÊ „Ò– (e) ⁄ÊœÊ ‚ ºπÊ Ÿ„Ë¥ ¡ÊÃÊ–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (b), (d), (e) (B) ∑§fl‹ (b), (c), (d) (C) ∑§fl‹ (a), (b), (c)

(D) ∑§fl‹ (a), (c), (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

50. Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

The secret of her fitness is that she __________ up before sunrise for an hour’s speed walk.

(A) got (B) will get (C) gets

(D) getting (E) Question not attempted

51. Fill in the blank in the given sentence by choosing the most appropriate word from the options
given below :

I am proud to say that all her efforts have resulted __________ securing the top rank.

(A) from (B) by (C) in

(D) into (E) Question not attempted

52. Select the health needs of children from the following :

(a) Understanding and acceptance (b) Early stimulation and learning needs

(c) Nutrition (d) Understanding and ignorance

(e) Supplementary nutrition

Choose the most appropriate answer from the options given below :

(A) (a), (b) and (d) only (B) (c) and (e) only

(C) (b), (d) and (e) only (D) (a), (c) and (d) only

(E) Question not attempted

ÁŸêŸ ◊¥ ‚ ’ìÊÙ¥ ∑§Ë SflÊSâÿ •Êfl‡ÿ∑§ÃÊ•Ù¥ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(a) ‚◊¤ÊŸÊ •ÊÒ⁄ SflË∑§Ê⁄ ∑§⁄ŸÊ (b) ¬˝Ê⁄¢Á÷∑§ ¬˝Ùà‚Ê„Ÿ •ÊÒ⁄ •Áœª◊ •Êfl‡ÿ∑§ÃÊ∞°

(c) ¬Ù·áÊ (d) ‚◊¤ÊŸÊ •ÊÒ⁄ •ŸÁ÷ôÊÃÊ

(e) ¬Í⁄∑§ ¬Ù·áÊ

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (a), (b) •ÊÒ⁄ (d) (B) ∑§fl‹ (c) •ÊÒ⁄ (e)

(C) ∑§fl‹ (b), (d) •ÊÒ⁄ (e) (D) ∑§fl‹ (a), (c) •ÊÒ⁄ (d)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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53. Weaning foods that support the transition from breast milk to regular foods are :

(a) Dalia (b) Bhindi ki subji (c) Sooji Kheer

(d) Chapati (e) Khichdi

Choose the most appropriate answer from the options given below :

(A) (a), (b), (c) and (d) only (B) (a), (b), (c) and (e) only

(C) (a), (c) and (d) only (D) (a), (c) and (e) only

(E) Question not attempted

ºÍœ ¿ÈU«∏ÊŸ flÊ‹ ÷Ù¡Ÿ (•Ê„Ê⁄) ¡Ù SÃŸ ∑§ ºÍœ ‚ ÁŸÿÁ◊Ã ÷Ù¡Ÿ (•Ê„Ê⁄) ◊¥ ¬Á⁄flÃ¸Ÿ ∑§Ê ‚◊Õ¸Ÿ ∑§⁄Ã „Ò¥, fl„ „Ò —

(a) ºÁ‹ÿÊ (b) Á÷ã«UË ∑§Ë ‚é¡Ë (c) ‚Í¡Ë πË⁄

(d) ø¬ÊÃË (e) Áπø«∏Ë

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (a), (b), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (a), (b), (c) •ÊÒ⁄ (e)

(C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (D) ∑§fl‹ (a), (c) •ÊÒ⁄ (e)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

54. A shopkeeper marked every item at 25% higher than its cost price. Then he offers 12% discount on
the marked price. If an item is sold for ` 3,850, then how much profit did the shopkeeper earn ?

∞∑§ ºÈ∑§ÊŸºÊ⁄ Ÿ „⁄ flSÃÈ ¬⁄ ‹ÊªÃ ◊ÍÀÿ ‚ 25% •Áœ∑§ ◊ÍÀÿ •¢Á∑§Ã Á∑§ÿÊ– Á»§⁄U fl„ •¢Á∑§Ã ◊ÍÀÿ ¬⁄ 12% ∑§Ë ¿ÍU≈ ºÃÊ
„Ò– ÿÁº ∞∑§ flSÃÈ ` 3,850 ∑§Ê ’øË ¡ÊÃË „Ò, ÃÙ ºÈ∑§ÊŸºÊ⁄ Ÿ Á∑§ÃŸÊ ‹Ê÷ ∑§◊ÊÿÊ?

(A) ` 250 (B) ` 292 (C) ` 328

(D) ` 350 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

55. Match List-I with List-II :

List-I List-II

(a) Manuscript (i) A state of highest perfection

(b) Theism (ii) Book written by hand

(c) Utopia (iii) One who is indifferent to pain or pleasure

(d) Stoic (iv) One who believes in the existence of God

Choose the most appropriate answer from the options given below :

(A) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) (B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(C) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) (D) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(E) Question not attempted
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56. Match List-I with List-II :

List-I List-II

(a) Samagra Shiksha Abhiyan (i) Female foeticide

(b) Maternity Benefit Act, 2017 (ii) SSA, RMSA, Teacher Education

(c) Rights of persons with Disabilities (iii) Creche

(d) Pre-conception and pre-Natal Diagnostic (iv) 21 Types
Techniques Act

‚ÍøË-I ∑§Ù ‚ÍøË-II  ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

(a) ‚◊ª˝ Á‡ÊˇÊÊ •Á÷ÿÊŸ (i) ◊ÊºÊ ÷˝ÍáÊ„àÿÊ

(b) ◊ÊÃÎàfl ‹Ê÷ •ÁœÁŸÿ◊, 2017 (ii) SSA, RMSA, Á‡ÊˇÊ∑§ Á‡ÊˇÊÊ

(c) Áº√ÿÊ¥ª¡ŸÙ¥ ∑§ •Áœ∑§Ê⁄ (iii) ∑˝§ø

(d) ¬Ífl¸ ª÷¸œÊ⁄áÊ ÃÕÊ ¡ã◊ ¬Ífl¸ ÁŸºÊŸÊà◊∑§ Ã∑§ŸË∑§ •ÁœÁŸÿ◊ (iv) 21 ¬˝∑§Ê⁄
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (B) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(C) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) (D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

57. “´§¡È” ‡Êéº ∑§Ê •Ÿ∑§ÊÕ¸∑§ ‡Êéº ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê Ÿ„Ë¥ „Ò?

(A) ‚ËœÊ (B) ‚Èª◊ (C) ŸˇÊòÊ

(D) •ŸÈ∑Í§‹ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

58. For the sentence given below, choose the most appropriate answer in the passive form from the
options provided :

The Interpol arrested the spies and sent them to jail.

(A) The Interpol are arresting the spies and sending them to jail.

(B) The Interpol arrested the spies and will send them to jail.

(C) The Interpol arrested the spies and are sending them to jail.

(D) The spies were arrested by the Interpol and sent to jail.

(E) Question not attempted

59. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚ ‡ÊÈh flÊÄÿ „Ò¥?

(a) ¬ÈÁ‹‚ Ÿ ⁄Ê◊Í ◊¥ •Ê⁄Ù¬ ‹ªÊÿÊ– (b) ◊Ò¥Ÿ •¡ÿ ∑§Ù Ÿ„Ë¥ ◊Ê⁄Ê „Ò–

(c) fl„ ‚¢ÃÊŸ ∑§ ∑§Ê⁄áÊ ºÈ—πË „Ò– (d) Ÿ◊Ÿ ¬Ê∆‡ÊÊ‹Ê ‚ ‹ı≈ •ÊÿÊ–

(e) ©‚Ÿ ◊È¤Ê •Ê¡ πÊŸ ∑§Ù ’È‹ÊÿÊ–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (a), (d), (e) (B) ∑§fl‹ (b), (c), (d) (C) ∑§fl‹ (b), (c), (e)

(D) ∑§fl‹ (a), (b), (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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60. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

 ‚ÍøË I ‚ÍøË II

◊È„Êfl⁄Ê flÊÄÿ ¬˝ÿÙª (•Õ¸)

(a) ÁÃ‹ ∑§Ê ÃÊ«∏ ∑§⁄ŸÊ (i) ‚Ê„Á‚∑§ ∑§Êÿ¸ ∑§⁄ŸÊ

(b) «ÍU’Ã ∑§Ù ÁÃŸ∑§ ∑§Ê ‚„Ê⁄Ê (ii) ∑§„Ë¥ ∑§Ê Ÿ„Ë¥ ⁄U„ŸÊ

(c) ¡ÊŸ ¬⁄ π‹ŸÊ (iii) ’ÊÃ ∑§Ù ÃÍ‹ ºŸÊ

(d) ÉÊ⁄ ∑§Ê Ÿ ÉÊÊ≈ ∑§Ê (iv) ÁŸ⁄Ê‡ÊÊ ◊¥ •Ê‡ÊÊ ∑§Ë ¤Ê‹∑§

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii) (B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(C) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) (D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

61. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

‡Êéº Áfl‹Ù◊ ‡Êéº

(a) ©e◊ (i) ÁÃÁ◊⁄

(b) ¬˝‡ÊÊ¢Ã (ii) ©Œ˜÷˝Ê¥Ã

(c) ¬˝Ê‚Êº (iii) Áfl‹ÿ

(d) •Ê‹Ù∑§ (iv) ¬áÊ¸∑È§≈Ë

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(C) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i) (D) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

62. Identify the odd word from the group of words given below relating to ‘tobacco’.

(A) Addiction (B) Subtraction (C) Division

(D) Equation (E) Question not attempted
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63. Which of the following pairs are correct ?
(a) Touch - comforting and soothing
(b) Cleaning eyes - Hygiene
(c) Infant games - Visual growth
(d) Facial gestures - Language development
Choose the most appropriate answer from the options given below :
(A) (a) and (b) only (B) (b) and (c) only (C) (a), (c) and (d) only
(D) (a), (b) and (d) only (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ‚ ÿÈÇ◊ ∆Ë∑§ „Ò¥?
(a) ¿ÍUŸÊ - •Ê⁄Ê◊ ºŸÊ •ÊÒ⁄ ‚„‹ÊŸÊ
(b) •Ê°π¥ ‚Ê»§ ∑§⁄ŸÊ - Sflë¿UÃÊ
(c) Á‡Ê‡ÊÈ π‹ - ŒÎ‡ÿÊà◊∑§ flÎÁh
(d) ø„⁄ ∑§ „Êfl÷Êfl - ÷Ê·Ê Áfl∑§Ê‚
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ∑§fl‹ (a) •ÊÒ⁄ (b) (B) ∑§fl‹ (b) •ÊÒ⁄ (c) (C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d)
(D) ∑§fl‹ (a), (b) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

64. Two vessels A and B contain milk and water mixed in the ratio 5 : 2 and 8 : 5 respectively. Find the
ratio in which the contents of vessels A and B should be mixed to get a new mixture containing
milk and water in the ratio 9 : 4.

ºÙ ¬ÊòÊ A •ÊÒ⁄ B ◊¥ ºÍœ •ÊÒ⁄ ¬ÊŸË ∑˝§◊‡Ê— 5 : 2 •ÊÒ⁄ 8 : 5 ∑§ •ŸÈ¬ÊÃ ◊¥ Á◊ÁüÊÃ „Ò–  fl„ •ŸÈ¬ÊÃ ôÊÊÃ ∑§ËÁ¡∞ Á¡‚◊¥ ¬ÊòÊ
A fl B ∑§ ¬ºÊÕÙZ ∑§Ù Á◊ÁüÊÃ ∑§⁄ ∞∑§ ŸÿÊ Á◊üÊáÊ ¬˝ÊåÃ „Ù Á¡‚◊¥ ºÍœ •ÊÒ⁄ ¬ÊŸË ∑§Ê •ŸÈ¬ÊÃ 9 : 4 „Ù–
(A) 5 : 2 (B) 9 : 7 (C) 5 : 3

(D) 7 : 2 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

65. Find the next number of the given series.

ºË ªÿË üÊáÊË ∑§ Á‹∞ •ª‹Ë ‚¢ÅÿÊ ¬„øÊÁŸ∞–
3, 7, 13, 19, 29, ?
(A) 31 (B) 35 (C) 39

(D) 37 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

66. Which of the following are the core rights of the children given by UNCRC ?
(a) Right to Survival (b) Right to Protection (c) Right to Equality
(d) Right to Development (e) Right to Participation

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ UUNCRC mÊ⁄Ê Áº∞ ª∞ ’ìÊÙ¥ ∑§ ◊Í‹ •Áœ∑§Ê⁄ ∑§ıŸ ‚ „Ò¥?
(a) ©ûÊ⁄¡ËÁflÃÊ ∑§Ê •Áœ∑§Ê⁄ (b) ‚È⁄ˇÊÊ ∑§Ê •Áœ∑§Ê⁄ (c) ‚◊ÊŸÃÊ ∑§Ê •Áœ∑§Ê⁄
(d) Áfl∑§Ê‚ ∑§Ê •Áœ∑§Ê⁄ (e) ¬˝ÁÃ÷ÊÁªÃÊ ∑§Ê •Áœ∑§Ê⁄
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a), (b), (c), (d) (B) (a), (c), (d), (e) (C) (a), (b), (d), (e)

(D) (b), (c), (d), (e) (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

67. “’Í°º-’Í°º ‚ ÉÊ«∏Ê ÷⁄ÃÊ „Ò” ß‚ flÊÄÿ ‚ Á∑§‚ Á∑˝§ÿÊ ∑§Ê ’Ùœ „ÙÃÊ „Ò?
(A) ‚∑§◊¸∑§ (B) •∑§◊¸∑§ (C) Ám∑§◊¸∑§
(D) ‚¢ÿÈÄÃ Á∑˝§ÿÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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68. Match List-I with List-II :

List-I List-II

(a) Difficulty in oral language (i) Difficulty in learning the connection between
letters and sounds

(b) Difficulty in reading and writing skills (ii) Hyperactive

(c) Difficulty in social behaviour (iii) Difficulty in tying shoes

(d) Difficulty in motor skills (iv) Difficulty in understanding questions

‚ÍøË-I ∑§Ù ‚ÍøË-II ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË -I ‚ÍøË -II

(a) ◊ıÁπ∑§ ÷Ê·Ê ◊¥ ∑§Á∆ŸÊß¸ (i) •ˇÊ⁄Ù¥ fl •ÊflÊ¡Ù¥ ∑§ ◊äÿ •ãÃ⁄ ‚¥’¥œ ‚ËπŸ ◊¥ ∑§Á∆ŸÊß¸

(b) ¬…U∏Ÿ fl Á‹πŸ ∑§ ∑§ı‡Ê‹ ◊¥ ∑§Á∆ŸÊß¸ (ii) •ÁÃ ‚Á∑˝§ÿ

(c) ‚Ê◊ÊÁ¡∑§ √ÿfl„Ê⁄ ◊¥ ∑§Á∆ŸÊß¸ (iii) »§ËÃ (‹Á‚‚) ’Ê°œŸ ◊¥ ∑§Á∆ŸÊß¸

(d) ¬˝⁄∑§ ∑§ı‡Ê‹ ◊¥ ∑§Á∆ŸÊß¸ (iv) ¬˝‡Ÿ ‚◊¤ÊŸ ◊¥ ∑§Á∆ŸÊß¸

Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —

(A) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii) (B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(C) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii) (D) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

69. Choose the most appropriate option to fill in the blank in the given sentence.

She has __________ French name but infact she’s English, not French.

(A) the (B) a (C) an

(D) no article (E) Question not attempted

70. ‘A’ started a business by investing some amount. ‘B’ joined  ‘A’ after 4 months and invested thrice
the amount of ‘A’. ‘C’ joined them after 2 more months and invested double the amount of  ‘A’. If
the profit at the end of the year is ` 84,000, then the share of ‘B’ in the profit (in `) is :

‘A’ Ÿ ∑È§¿U ⁄ÊÁ‡Ê ÁŸfl‡Ê ∑§⁄∑§ ∞∑§ √ÿfl‚Êÿ ‡ÊÈM§ Á∑§ÿÊ– 4 ◊Ê„ ’Êº ‘B’ ÁÃªÈŸË ⁄ÊÁ‡Ê ÁŸfl‡Ê ∑§⁄ ‘A’ ∑§ ‚ÊÕ √ÿfl‚Êÿ ◊¥ ¡È«∏
ªÿÊ– ß‚∑§ ºÙ ◊Ê„ ’Êº ‘C’, ‘A’ ‚ ºÈªÈŸË œŸ⁄ÊÁ‡Ê ‹ªÊ∑§⁄ √ÿfl‚Êÿ ◊¥ ¡È«∏ ªÿÊ– ÿÁº fl·¸ ∑§ •¢Ã ◊¥ ‹Ê÷ ` 84,000 „Ò ÃÙ
‘B’ ∑§Ê ‹Ê÷ (M§¬ÿ ◊¥) ◊¥ •¢‡Ê ôÊÊÃ ∑§ËÁ¡∞–

(A) ` 21,000 (B) ` 32,000 (C) ` 28,000

(D) ` 42,000 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

71. “ºÊ‹-⁄Ù≈Ë” ‡Êéº ÁŸêŸ ◊¥ ‚ Á∑§‚ ‚◊Ê‚ ∑§Ê ‚’‚ ©¬ÿÈÄÃ ©ºÊ„⁄áÊ „Ò?

(A) •√ÿÿË÷Êfl ‚◊Ê‚ (B) Ãà¬ÈL§· ‚◊Ê‚ (C) m¢m ‚◊Ê‚

(D) ’„Èfl˝ËÁ„ ‚◊Ê‚ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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72. Match List-I with List-II :

List-I List-II

Year Policy/Programme

(a) 2014 (i) The National Policy for Children (NPC)

(b) 2016 (ii) National Nutrition Policy

(c) 2013 (iii) India Newborn Action Plan (INAP)

(d) 1993 (iv) National Plan of Action for Children (NPAC)

‚ÍøË-I ∑§Ù ‚ÍøË-II ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

fl·¸ ŸËÁÃ/¬˝Êª˝Ê◊
(a) 2014 (i) ⁄Êc≈U˛Ëÿ ’Ê‹ŸËÁÃ (NPC)

(b) 2016 (ii) ⁄Êc≈U˛Ëÿ ¬Ù·áÊ ŸËÁÃ

(c) 2013 (iii) ÷Ê⁄Ã Ÿfl¡ÊÃ Á‡Ê‡ÊÈ ∑§Êÿ¸ ÿÙ¡ŸÊ (INAP)

(d) 1993 (iv) ’ìÊÙ¥ ∑§ Á‹∞ ⁄Êc≈U˛Ëÿ ∑§Êÿ¸ ÿÙ¡ŸÊ (NPAC)
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(C) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii) (D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

73. “•ŸÈ‡ÊÊ‚Ÿ” ‡Êéº ◊¥ “•ŸÈ” ‡ÊéºÊ¢‡Ê ∑§Ù ÁŸêŸ ◊¥ ‚ Á∑§‚ ŸÊ◊ ‚ ¡ÊŸÊ ¡ÊÃÊ „Ò?

(A) ¬˝àÿÿ (B) ©¬‚ª¸ (C) ∑§Ê⁄∑§

(D) √ÿ¢¡Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

74. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‡Êéº •‡ÊÈh „Ò?

(A) ¬Á⁄áÊÊ◊ (B) ¬˝‡Ê¢‡ÊÊ (C) ‡ÊÙ·áÊ

(D) œÈ⁄¢œ⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

75. What is child mortality rate ?  (Select most appropriate option from below)

(A) Total number of child deaths under the age of two years per 1000 live births.

(B) Total number of child deaths under the age of two years per 100 live births.

(C) Total number of child deaths under the age of five years per 1000 live births.

(D) Total number of child deaths under the age of five years per 100 live births.

(E) Question not attempted

“Á‡Ê‡ÊÈ ◊ÎàÿÈ º⁄” ÄÿÊ „Ò? (ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U øÈŸ¥)

(A) ¬˝ÁÃ 1000 ¡ËÁflÃ ¡ã◊Ù¥ ¬⁄ 2 fl·¸ ‚ ∑§◊ •ÊÿÈ ∑§ ’ìÊÙ¥ ∑§Ë ◊ÎàÿÈ ∑§Ë ∑È§‹ ‚¢ÅÿÊ–

(B) ¬˝ÁÃ 100 ¡ËÁflÃ ¡ã◊Ù¥ ¬⁄ 2 fl·¸ ‚ ∑§◊ •ÊÿÈ ∑§ ’ìÊÙ¥ ∑§Ë ◊ÎàÿÈ ∑§Ë ∑È§‹ ‚¢ÅÿÊ–

(C) ¬˝ÁÃ 1000 ¡ËÁflÃ ¡ã◊Ù¥ ¬⁄ 5 fl·¸ ‚ ∑§◊ •ÊÿÈ ∑§ ’ìÊÙ¥ ∑§Ë ◊ÎàÿÈ ∑§Ë ∑È§‹ ‚¢ÅÿÊ–

(D) ¬˝ÁÃ 100 ¡ËÁflÃ ¡ã◊Ù¥ ¬⁄ 5 fl·¸ ‚ ∑§◊ •ÊÿÈ ∑§ ’ìÊÙ¥ ∑§Ë ◊ÎàÿÈ ∑§Ë ∑È§‹ ‚¢ÅÿÊ–

(E)  •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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76. Expand BMI :

(A) Body Measure Indicator (B) Basic Measure Index

(C) Body Mass Index (D) Basic Mass Indicator

(E) Question not attempted

BMI ∑§Ê ¬ÍáÊ¸ M§¬ „Ò —

(A) ’ÊÚ«UË ◊ïÊ⁄ ßã«UË∑§≈⁄ (B) ’Á‚∑§ ◊ïÊ⁄ ßã«UÄ‚

(C) ’ÊÚ«UË ◊Ê‚ ßã«UÄ‚ (D) ’Á‚∑§ ◊Ê‚ ßã«UË∑§≈⁄

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

77. ÁŸêŸ ◊¥ ‚ Á∑§‚ ‚◊Ê‚ ◊¥ ¬Ífl¸¬º ¬˝œÊŸ „ÙÃÊ „Ò?

(A) •√ÿÿË÷Êfl ‚◊Ê‚ (B) m¢m ‚◊Ê‚ (C) Ãà¬ÈL§· ‚◊Ê‚

(D) ’„Èfl˝ËÁ„ ‚◊Ê‚ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

78. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê/∑§ÊÒŸ ‚ ‡ÊÈh ‡Êéº „Ò¥?

(a) SflÊSÕ (b) ‚Íÿ¸ (c) ◊⁄áÊ

(d) ÁflS◊⁄Ÿ (e) ◊ÃÊ¢Ã⁄

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§fl‹ (b), (c), (e) (B) ∑§fl‹ (a), (b), (d) (C) ∑§fl‹ (b), (c), (d)

(D) ∑§fl‹ (c), (d), (e) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

79. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

flÊÄÿÊ¢‡Ê ‚ÊÕ¸∑§ ‡Êéº

(a) ¡Ù ∑§Ê‹ ∑§Ù ¡ËÃ ‹ (i) •ŸÈ¡

(b) Á¡‚∑§Ê ¡ã◊ ’Êº ◊¥ „È•Ê „Ù (ii) ªÙœÍ‹Ë

(c) ⁄ÊÁòÊ fl ‚¢äÿÊ ∑§ ’Ëø ∑§Ë fl‹Ê (iii) ÁŸÁp¢Ã

(d) ¡Ù Áø¢ÃÊ ‚ ⁄Á„Ã „Ù (iv) ∑§Ê‹¡ÿË

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii) (B) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(C) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) (D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

80. Which of the following is not an infectious disease ?

(A) Diphtheria (B) Osteoarthritis (C) Dysentery

(D) Tuberculosis (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ‚Ê ∞∑§ ‚¢∑˝§Ê◊∑§ ⁄Ùª Ÿ„Ë¥ „Ò?

(A) Á«UçÕËÁ⁄ÿÊ (B) •ÊÚÁS≈ÿÙ •ÊÕÊ¸Á⁄UÁ≈‚ (C) ¬Áø‡Ê (Á«U‚ã≈˛Ë)

(D) Ã¬Áº∑§ (≈KÍ’⁄ÄÿÍ‹ÙÁ‚‚) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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81. Expand RMSA :

(A) Rashtriya Medical School Abhiyan

(B) Rational Madhyamik Shiksha Abhiyan

(C) Rashtriya Madhyamik Shiksha Abhiyan

(D) Rational Medical Stipend Allocation

(E) Question not attempted

RMSA ∑§Ê ÁflSÃÊ⁄ M§¬ „Ò —

(A) ⁄Êc≈U˛Ëÿ ◊Á«U∑§‹ S∑Í§‹ •Á÷ÿÊŸ

(B) ⁄‡ÊŸ‹ ◊ÊäÿÁ◊∑§ Á‡ÊˇÊÊ •Á÷ÿÊŸ

(C) ⁄Êc≈U˛Ëÿ ◊ÊäÿÁ◊∑§ Á‡ÊˇÊÊ •Á÷ÿÊŸ

(D) ⁄‡ÊŸ‹ ◊Á«U∑§‹ S≈Êÿ¬ã«U ∞‹Ù∑§‡ÊŸ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

82. A grocer has 80 kg rice, a part of which he sells at 8% profit and the rest at 18% profit. He gains
14% on the whole. What is the quantity of rice sold at 18% profit ?

∞∑§ ¬¢‚Ê⁄Ë ∑§ ¬Ê‚ 80 Á∑§.ª˝Ê. øÊfl‹ ÕÊ, Á¡‚∑§Ê ∞∑§ ÷Êª ©‚Ÿ 8% ‹Ê÷ ¬⁄ ’øÊ •ÊÒ⁄ ‡Ê· 18% ‹Ê÷ ¬⁄ ’øÊ– ©‚∑§Ê
∑È§‹ Á◊‹Ê∑§⁄U 14% ∑§Ê ‹Ê÷ Á◊‹Ê–  18% ‹Ê÷ ¬⁄ ’ø „È∞ øÊfl‹ ∑§Ë ◊ÊòÊÊ ôÊÊÃ ∑§ËÁ¡∞–

(A) 58 kg/Á∑§.ª˝Ê. (B) 32 kg/Á∑§.ª˝Ê. (C) 42 kg/Á∑§.ª˝Ê.

(D) 48 kg/Á∑§.ª˝Ê. (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

83. Children with __________ may experience difficulty in responding to the regular forms of care
and discipline.

(A) Sensory organs (B) Disability (C) Behavioural issues

(D) Molar disability (E) Question not attempted

__________  ∑§ ‚ÊÕ ’ìÊ ºπ÷Ê‹ •ÊÒ⁄ •ŸÈ‡ÊÊ‚Ÿ ∑§ ÁŸÿÁ◊Ã M§¬ ◊¥ ¬˝àÿÙûÊ⁄ ºŸ ◊¥ ∑§Á∆ŸÊß¸ ∑§Ê •ŸÈ÷fl ∑§⁄ ‚∑§Ã „Ò¥–

(A) ‚¢flºË •¢ª (B) •ˇÊ◊ÃÊ (C) √ÿfl„Ê⁄Êà◊∑§ ◊Èg

(D) ¬˝⁄∑§ •ˇÊ◊ÃÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

84. Match List-I with List-II :

List-I List-II

Word Antonyms

(a) Approve (i) Orthodox

(b) Scarce (ii) Transparent

(c) Modern (iii) Disapprove

(d) Opaque (iv) Plenty

Choose the most appropriate answer from the options given below :

(A) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) (B) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(C) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (D) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

(E) Question not attempted
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85. Which of the following is NOT an auditory stimulus for the infants ?
(A) Giving exposure to sounds of birds
(B) Making facial gestures
(C) Playing soft music
(D) Talking

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ‚Ê Á‡Ê‡ÊÈ•Ù¥ ∑§ Á‹∞ üÊ√ÿ ©gË¬Ÿ Ÿ„Ë¥ „Ò?
(A) ¬ÁˇÊÿÙ¥ ∑§Ë •ÊflÊïÊ ‚ÈŸÊŸÊ
(B) ø„⁄ ∑§ „Êfl-÷Êfl ’ŸÊŸÊ
(C) ◊œÈ⁄ ‚¢ªËÃ ’¡ÊŸÊ (‡ÊÊ¥Ã Sfl⁄U)
(D) ’ÊÃøËÃ ∑§⁄ŸÊ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

86. Choose the most appropriate option to fill in the blank in the given sentence.
We stayed at __________ hotel in the town.
(A) cheap (B) cheaper (C) the cheapest
(D) the cheap (E) Question not attempted

87. A man buys a field of agricultural land. He sells one-third of the land at a loss of 20% and two-fifth
of the land at a profit of 25%.  At how much percent profit must he sell the remaining land so as to
make an overall profit of 10% ?

∞∑§ √ÿÁÄÃ ∞∑§ ∑Î§Á· ˇÊòÊ π⁄ËºÃÊ „Ò– fl„ ß‚ ÷ÍÁ◊ ∑§Ê ∞∑§ ÁÃ„Êß¸ ÷Êª 20 ¬˝ÁÃ‡ÊÃ „ÊÁŸ ¬⁄ ’ø ºÃÊ „Ò •ÊÒ⁄
2/5 flÊ° ÷Êª 25 ¬˝ÁÃ‡ÊÃ ‹Ê÷ ¬⁄ ’øÃÊ „Ò– ∑È§‹ Á◊‹Ê∑§⁄U 10 ¬˝ÁÃ‡ÊÃ ‚ê¬ÍáÊ¸ ‹Ê÷ ∑§ Á‹∞ ©‚ ‡Ê· ÷ÍÁ◊ Á∑§ÃŸ ¬˝ÁÃ‡ÊÃ
‹Ê÷ ¬⁄ ’øŸË øÊÁ„∞?
(A) 25% (B) 20% (C) 18%

(D) 15% (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

88. Identify from the following the statement which is NOT true with respect to colostrum.
(A) Colostrum contains immunoglobulin IgA.
(B) Colostrum is rich in macrophages and lymphocytes.
(C) Colostrum provides immunity to the respiratory tract of the infant.
(D) Colostrum provides natural passive acquired immunity to the infant.
(E) Question not attempted

ÁŸêŸ ◊¥ ‚ ©‚ ∑§ÕŸ ∑§Ù ¬„øÊÁŸ∞ ¡Ù ∑§Ù‹ÙS≈˛◊ ∑§ ‚ê’ãœ ◊¥ ‚„Ë Ÿ„Ë¥ „Ò–
(A) ∑§Ù‹ÙS≈˛◊ ◊¥ ßêÿÍŸÙÇ‹ÙéÿÍÁ‹Ÿ IgA ÁŸÁ„Ã „ÙÃÊ „Ò–
(B) ∑§Ù‹ÙS≈˛◊ ◊¥ Á‹ê»§∑§ÙÁ‡Ê∑§Ê fl ÷ˇÊ∑§ÊáÊÈ•Ù¥ ◊¥ ‚◊Îh „ÙÃÊ „Ò–
(C) ∑§Ù‹ÙS≈˛◊ Á‡Ê‡ÊÈ•Ù¥ ∑§ E‚Ÿ ¬Õ ∑§Ù ¬˝ÁÃ⁄ˇÊÊ ¬˝ºÊŸ ∑§⁄ÃÊ „Ò–
(D) ∑§Ù‹ÙS≈˛◊ Á‡Ê‡ÊÈ ∑§Ù ¬˝Ê∑Î§ÁÃ∑§ ÁŸÁc∑˝§ÿ (¬ÒÁ‚fl) •Á¡¸Ã ¬˝ÁÃ⁄ˇÊÊ ¬˝ºÊŸ ∑§⁄ÃÊ „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

89. Select the most appropriate option from the Hindi technical terms given below, for the English
word ‘Authentication’.

(A) ÁflESÃ (B) ¬˝◊ÊÁáÊ∑§ (C) ¬˝◊ÊáÊË∑Î§Ã
(D) ¬˝◊ÊáÊË∑§⁄UáÊ (E) Question not attempted
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90. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚ •‡ÊÈh flÊÄÿ „Ò¥?
(a) •Ê¬∑§ Á‹∞ ªÊ«∏Ë ◊°ªflÊ ‹Ë „Ò– (b) ªÁ‹ÿÙ¥ ∑§Ù øı«∏Ë ∑§⁄ŸË •Êfl‡ÿ∑§ „Ò–
(c) ©‚Ÿ ‚’Ù¥ ‚ ÿ„Ë ’ÊÃ ∑§„Ë– (d) ◊⁄Ë ŸÊ∑§ ◊¥ ‚Í¡Ÿ „Ò–
(e) Á»§⁄ ÷Ë ©Ÿ∑§Ê „Ë ¬⁄Ê¡ÿ „È•Ê–
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§fl‹ (c), (d), (e) (B) ∑§fl‹ (a), (b), (c) (C) ∑§fl‹ (b), (d), (e)
(D) ∑§fl‹ (b), (c), (e) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

91. Which of the following is a bacterial disease ?
(A) Hepatitis B (B) Acquired Immuno Deficiency Syndrome
(C) Corona (D) Typhoid (E)    Question not attempted

ÁŸêŸ ◊¥ ‚ ∑§ıŸ‚Ê ⁄Ùª ¡ËflÊáÊÈ¡ÁŸÃ „Ò?
(A) „¬Ê≈ÊßÁ≈‚ - ’Ë (B) ∞ÄflÊÿ«¸U ßêÿÍŸÙ «UÁ»§Á‡Ê∞¥‚Ë Á‚ã«˛Ù◊
(C) ∑§Ù⁄ÙŸÊ (D) ≈ÊÚÿ»§Êÿ«U (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

92. Identify the principles of development from the following :
(a) Development is sequential
(b) Development refers to quantitative changes in the body
(c) Development is a product of maturation and learning
(d) There are individual differences in development
Choose the most appropriate answer from the options given below :
(A) (a), (c) and (d) only (B) (b) and (d) only (C) (a) and (c) only
(D) (b), (c) and (d) only (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Áfl∑§Ê‚ ∑§ Á‚hÊ¢ÃÙ¥ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞ —
(a) Áfl∑§Ê‚ ∑˝§Á◊∑§ „Ò–
(b) Áfl∑§Ê‚ ‡Ê⁄Ë⁄ ◊¥ ◊ÊòÊÊà◊∑§ ¬Á⁄flÃ¸ŸÙ¥ ∑§Ù ‚¢ºÁ÷¸Ã ∑§⁄ÃÊ „Ò–
(c) Áfl∑§Ê‚ ¬Á⁄¬ÄflÃÊ •ÊÒ⁄ ‚ËπŸ ∑§Ê ∞∑§ ©à¬Êº „Ò–
(d) Áfl∑§Ê‚ ◊¥ √ÿÁÄÃªÃ •¢Ã⁄ „Ò¥–
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–
(A) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (b) •ÊÒ⁄ (d) (C) ∑§fl‹ (a) •ÊÒ⁄ (c)
(D) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

93. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —
‚ÍøË I ‚ÍøË II
‡Êéº Áfl‹Ù◊ ‡Êéº

(a) ‚ıêÿ (i) √ÿÁc≈U
(b) ‚◊Ác≈U (ii) ˇÊÈŒ˝
(c) ‡ÿÊ◊Ê (iii)  ©ª˝
(d) Áfl⁄Ê≈ (iv) ªı⁄Ë
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) (B) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(C) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) (D) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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94. Fill in the blank in the given sentence by choosing the most appropriate word/words from the
options given below :
She is short tempered, __________ interesting to be with.
(A) even as (B) nevertheless (C) inspite
(D) meanwhile (E) Question not attempted

95. Choose the most appropriate answer from the options given in English for the Hindi technical

word  “‚flÊ⁄UË ÷ûÊÊ”.
(A) travel costs (B) journey costs
(C) journey fare (D) conveyance allowance
(E) Question not attempted

96. The age specific  acquisition of skills and competencies in each domain is called : (Choose the most
appropriate option from below)
(A) Development (B) Growth
(C) Delayed development (D) Development milestones
(E) Question not attempted

¬˝àÿ∑§ •ÊÿÊ◊ ◊¥ •ÊÿÈ ÁflÁ‡Êc≈U ∑§ı‡Ê‹ •ÊÒ⁄ ºˇÊÃÊ ∑§Ù •Á¡¸Ã ∑§⁄ŸÊ, ∑§„‹ÊÃÊ „Ò — (ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U ∑§Ê
øÈŸ¥)
(A) Áfl∑§Ê‚ (B) flÎÁh
(C) Áfl‹¢Á’Ã Áfl∑§Ê‚ (D) Áfl∑§Ê‚Êà◊∑§ ◊Êß‹S≈Ùã‚ (◊Ë‹ ∑§Ê ¬àÕ⁄)
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

97. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —
‚ÍøË I ‚ÍøË II
‡Êéº Áfl‹Ù◊ ‡Êéº

(a) ∑§Ù¬ (i) ¬˝∑§≈
(b) ªÈåÃ (ii) ∑Î§¬Ê
(c) ŸE⁄U (iii) •Ê‹Ù∑§
(d) Ã◊ (iv) Áø⁄¢ÃŸ
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) (B) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
(C) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i) (D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

98. Exposure of pregnant women to environmental pollution can seriously affect the developing
__________.
(A) Meiocyte (B) Ovum (C) Sperm
(D) Foetus (E) Question not attempted

ª÷¸flÃË ◊Á„‹Ê•Ù¥ ∑§Ê ¬ÿÊ¸fl⁄áÊËÿ ¬˝ºÍ·áÊ ∑§ ‚¢¬∑¸§ ◊¥ •ÊŸÊ __________ ∑§ Áfl∑§Ê‚ ∑§Ù ª¢÷Ë⁄ M§¬ ‚ ¬˝÷ÊÁflÃ ∑§⁄ ‚∑§ÃÊ
„Ò–
(A) •œ¸ ‚ÍòÊË ∑§ÙÁ‡Ê∑§Ê (B) •¢«UÊáÊÈ (C) ‡ÊÈ∑˝§ÊáÊÈ
(D) ÷˝ÍáÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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99. Intellectual disorder in children include the following :
(a) Mental retardation (b) Delayed mental development
(c) Chronic depression (d) Mood swings
Choose the most appropriate answer from the options given below :
(A) (a), (b) and (c) only (B) (a) and (b) only (C) (c) and (d) only
(D) (b) and (d) only (E) Question not attempted

’ìÊÙ¥ ∑§ ’ıÁh∑§ Áfl∑§Ê⁄ ◊¥ ÁŸêŸ ◊¥ ‚ ‚Áê◊Á‹Ã „Ò —
(a) ◊ÊŸÁ‚∑§ ◊¢ºÃÊ (b) Áfl‹¢Á’Ã ◊ÊŸÁ‚∑§ Áfl∑§Ê‚
(c) ºËÉÊ¸∑§ÊÁ‹∑§ •fl‚Êº (d) ◊Ÿ ’º‹Ã ⁄„ŸÊ
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ∑§fl‹ (a), (b) •ÊÒ⁄ (c) (B) ∑§fl‹ (a) •ÊÒ⁄ (b) (C) ∑§fl‹ (c) •ÊÒ⁄ (d)
(D) ∑§fl‹ (b) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

100. Choose the most appropriate image option which resembles the mirror image of the given
combination from options below.

Áºÿ ªÿ ‚¢ÿÙ¡Ÿ ∑§Ë º¬¸áÊ ¿UÁfl ‚ Á◊‹Ã „È∞ ‚’‚ ©¬ÿÈÄÃ ¿UÁfl Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A)  (B)  (C)  

(D)  (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

101. What should lactating mothers avoid eating ?
(A) Fruits and green vegetables (B) Tinned juices and preserved foods
(C) Pulses (D) Curd and milk
(E) Question not attempted

SÃŸ¬ÊŸ ∑§⁄ÊŸ flÊ‹Ë ◊ÊÃÊ•Ù¥ ∑§Ù ÄÿÊ πÊŸ ‚ ’øŸÊ øÊÁ„∞?
(A) »§‹ fl „⁄Ë ‚Áé¡ÿÊ° (B) Á«Ué’Ê’¢º ¡Í‚ •ÊÒ⁄ ‚¢⁄ÁˇÊÃ πÊl ¬ºÊÕ¸
(C) ºÊ‹¥ (D) º„Ë •ÊÒ⁄ ºÍœ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

102. Integrated Child Development Services (ICDS) projects are set up in backward and poor regions
and cover children who come from :
(a) landless families
(b) affluent farmers with high family income
(c) scheduled castes and scheduled tribes families
(d) families whose monthly income is less than Rs. 500/-
Choose the most appropriate answer from the options given below :
(A) (a), (b) and (c) only (B) (c) and (d) only (C) (a), (c) and (d) only
(D) (b) and (c) only (E) Question not attempted

Integrated Child Development Services (ICDS) ¬Á⁄ÿÙ¡ŸÊ ª⁄Ë’ ÃÕÊ Á¬¿U«∏ ß‹Ê∑§Ù¥ ◊¥ ‹ÊªÍ ∑§Ë ¡ÊÃË „Ò •ÊÒ⁄ ©Ÿ
’ìÊÙ¥ ∑§Ù ‚Áê◊Á‹Ã ∑§⁄ÃË „Ò ¡Ù Á∑§ __________ ‚ •ÊÃ „Ò¥–
(a) ÷ÍÁ◊„ËŸ ¬Á⁄flÊ⁄
(b) ©ìÊ ¬ÊÁ⁄flÊÁ⁄∑§ •Êÿ flÊ‹ ‚ê¬ÛÊ Á∑§‚ÊŸ ¬Á⁄flÊ⁄
(c) •ŸÈ‚ÍÁøÃ ¡ÊÁÃ fl •ŸÈ‚ÍÁøÃ ¡Ÿ¡ÊÁÃ ¬Á⁄flÊ⁄
(d) ¬Á⁄flÊ⁄ Á¡Ÿ∑§Ë ◊ÊÁ‚∑§ •Êÿ 500 M§¬ÿ ‚ ∑§◊ „Ò
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§fl‹ (a), (b) •ÊÒ⁄ (c) (B) ∑§fl‹ (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d)
(D) ∑§fl‹ (b) •ÊÒ⁄ (c) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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103. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —
‚ÍøË I ‚ÍøË II
flÊÄÿÊ¢‡Ê ∞∑§ ‡Êéº

(a) Á∑§‚Ë flSÃÈ ∑§Ê øıÕÊ ÷Êª (i) øÃÈc¬º
(b) Á¡‚∑§Ë øÊ⁄ ÷È¡Ê∞° „Ò¥ (ii) øÃÈº¸‡ÊË
(c) Á¡Ÿ∑§ øÊ⁄-øÊ⁄ ¬Ò⁄ „ÙÃ „Ò¥ (iii) øÃÈÕÊZ‡Ê
(d) ◊Ê‚ ∑§ Á∑§‚Ë ¬ˇÊ ∑§Ë øıº„flË¥ ÁÃÁÕ (iv) øÃÈ÷È¸¡
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii) (B) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(C) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) (D) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

104. Given below are two statements.
Statement I : Transplacental transfer of immunoglobulin (IgG) from mother to the foetus is an

example of Artificial Passive Acquired Immunity.
Statement II : Injecting Anti Tetanus Serum (ATS) against tetanus is a case of creating Natural

Passive Acquired Immunity.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement  II is incorrect.
(D) Statement I is incorrect but Statement  II is correct.
(E) Question not attempted

ŸËø ºÙ ∑§ÕŸ Áº∞ ª∞ „Ò–
∑§ÕŸ I — ◊ÊÃÊ ‚ ÷˝ÍáÊ ∑§Ù å‹‚ã≈Ê (•¬⁄Ê) mÊ⁄Ê ßêÿÍŸÙÇ‹ÙéÿÍÁ‹Ÿ (IgG) ∑§Ê „SÃÊ¢Ã⁄áÊ ∞∑§ ∑Î§ÁòÊ◊ ÁŸÁc∑˝§ÿ •Á¡¸Ã

¬˝ÁÃ⁄ˇÊÊ ∑§Ê ©ºÊ„⁄áÊ „Ò–
∑§ÕŸ II — Á≈≈Ÿ‚ ∑§ ÁflM§h ∞¢≈Ë Á≈≈Ÿ‚ ‚Ë⁄◊ (ATS) ∑§Ê ß¢¡Ä‡ÊŸ ºŸÊ, ¬˝Ê∑Î§ÁÃ∑§ ÁŸÁc∑˝§ÿ •Á¡¸Ã ¬˝ÁÃ⁄ˇÊÊ ∑§Ë ∞∑§

¬Á⁄UÁSÕÁÃ „Ò–
©¬⁄ÙÄÃ ∑§ÕŸ ∑§ •Ê‹Ù∑§ ◊¥, ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§ÕŸ I •ÊÒ⁄ II ºÙŸÙ¥ ‚„Ë „Ò¥–
(B) ∑§ÕŸ I •ÊÒ⁄ II ºÙŸÙ¥ ª‹Ã „Ò¥–
(C) ∑§ÕŸ I ‚„Ë „Ò, ‹Á∑§Ÿ ∑§ÕŸ II ª‹Ã „Ò–
(D) ∑§ÕŸ I ª‹Ã „Ò, ‹Á∑§Ÿ ∑§ÕŸ II ‚„Ë „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

105. Development is the product of _________.  (Choose most appropriate answer from below)
(A) Heredity (B) Environment (C) Maturation and learning
(D) Height and Weight (E) Question not attempted

Áfl∑§Ê‚ _________ ∑§Ê ©à¬Êº „Ò– (ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U ∑§Ê øÈŸ¥)
(A) •ÊŸÈflÊ¢Á‡Ê∑§Ë (B) ¬ÿÊ¸fl⁄áÊ (C) ¬Á⁄¬ÄflŸ •ÊÒ⁄ •Áœª◊
(D) ‹ê’Êß¸ •ÊÒ⁄ fl¡Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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106. Identify from the following, the food groups that make up a balanced diet.

(a) Vitamins and Carbohydrates (b) Proteins and Carbohydrates

(c) Fats and Minerals (d) Proteins and Fibres

(e) Vitamins and Minerals

Choose the most appropriate answer from the options given below :

(A) (b), (d) and (e) only (B) (a), (b) and (c) only

(C) (a), (c) and (d) only (D) (c), (d) and (e) only

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ©Ÿ πÊl ‚◊Í„Ù¥ ∑§Ë ¬„øÊŸ ∑§⁄¥ ¡Ù ‚¢ÃÈÁ‹Ã •Ê„Ê⁄ ’ŸÊÃ „Ò¥–
(a) Áfl≈ÊÁ◊Ÿ •ÊÒ⁄ ∑§Ê’Ù¸„Êß«˛≈ (b) ¬˝Ù≈ËŸ •ÊÒ⁄ ∑§Ê’Ù¸„Êß«˛≈
(c) fl‚Ê •ÊÒ⁄ πÁŸïÊ (d) ¬˝Ù≈ËŸ •ÊÒ⁄ ⁄‡Ê
(e) Áfl≈ÊÁ◊Ÿ •ÊÒ⁄ πÁŸïÊ
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§fl‹ (b), (d) •ÊÒ⁄ (e) (B) ∑§fl‹ (a), (b) •ÊÒ⁄ (c)
(C) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (D) ∑§fl‹ (c), (d) •ÊÒ⁄ (e)
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

107. Among the following, what is the most appropriate full form of IEDC ?

(A) Integrated Education for Disabled Children

(B) Individualized Education for Disabled Children

(C) Individual Efforts for Disabled Children

(D) Integrated Efforts for Disabled Children

(E) Question not attempted

IEDC ∑§Ê ‚’‚ ©¬ÿÈÄÃ ¬ÍáÊ¸M§¬ ÄÿÊ „Ò?
(A) ßã≈Ëª˝≈«U ∞¡Í∑§‡ÊŸ »§ÊÚ⁄ Á«U‚éÊÀ«U ÁøÀ«˛Ÿ
(B) ßã«UËÁfl¡È•‹ÊßÖ«U ∞¡Í∑§‡ÊŸ »§ÊÚ⁄ Á«U‚éÊÀ« ÁøÀ«˛Ÿ
(C) ßã«UËÁfl¡È•‹ ∞»§≈˜¸‚ »§ÊÚ⁄ Á«U‚éÊÀ« ÁøÀ«˛Ÿ
(D) ßã≈Ëª˝≈«U ∞»§≈˜¸‚ »§ÊÚ⁄ Á«U‚éÊÀ« ÁøÀ«˛Ÿ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

108. ¡ªÃ˜ + ß¸‡Ê = “¡ªºË‡Ê” ‡Êéº ÁŸêŸ ◊¥ ‚ Á∑§‚ ‚¢Áœ ∑§Ê ‚’‚ ©¬ÿÈÄÃ ©ºÊ„⁄áÊ „Ò?
(A) Sfl⁄ ‚¢Áœ (B) Áfl‚ª¸ ‚¢Áœ (C) ¬⁄‚ª¸ ‚¢Áœ
(D) √ÿ¢¡Ÿ ‚¢Áœ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

109. The present population of a village is 11,000. If the numbers of males increase by 11% and the
numbers of females increase by 20%, then the population will become 12,660. What is the present
population of females in the village ?

∞∑§ ªÊ°fl ∑§Ë flÃ¸◊ÊŸ ¡Ÿ‚¢ÅÿÊ 11,000 „Ò– ÿÁº ¬ÈL§·Ù¥ ∑§Ë ‚¢ÅÿÊ 11% •ÊÒ⁄ ◊Á„‹Ê•Ù¥ ∑§Ë ‚¢ÅÿÊ 20% ’…U∏ ¡ÊÃË „Ò ÃÙ
¡Ÿ‚¢ÅÿÊ 12,660 „Ù ¡Ê∞ªË– ªÊ°fl ◊¥ ◊Á„‹Ê•Ù¥ ∑§Ë flÃ¸◊ÊŸ ¡Ÿ‚¢ÅÿÊ Á∑§ÃŸË „Ò?
(A) 6,000 (B) 7,000 (C) 5,000

(D) 5,500 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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110. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ “‹Ù∑§ÙÁÄÃ” ∑§Ê øÿŸ ∑§ËÁ¡∞ —

(A) ∑§ÊªïÊË ÉÊÙ«∏ ºı«∏ÊŸÊ (B) ∑§ÊŸ ¬⁄ ¡Í¢ Ÿ„Ë¥ ⁄¥ªŸÊ

(C) ∞«∏Ë-øÙ≈Ë ∞∑§ ∑§⁄ŸÊ (D) „ÙŸ„Ê⁄ Á’⁄flÊŸ ∑§ „ÙÃ øË∑§Ÿ ¬ÊÃ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

111. Fill in the blank in the sentence given, choosing the most appropriate word from the options
below :

The __________ officer noticed a masked man coming out of the bank.

(A) security (B) emergency (C) safety

(D) watchman (E) Question not attempted

112. Identify the pillars of interventions of the India Newborn Action Plan (INAP), 2014.

(a) Care of healthy newborn

(b) Prevention of stunting, undernutrition and anaemia in young children and women

(c) Care beyond newborn survival

(d) Preconception and antenatal care

Choose the most appropriate answer from the options given below :

(A) (a), (c) and (d) only (B) (a), (b) and (c) only (C) (c) and (d) only

(D) (b) and (d) only (E) Question not attempted

ß¢Á«UÿÊ ãÿÍ’ÙŸ¸ ∞Ä‡ÊŸ å‹ÊŸ (INAP), 2014 ∑§ „SÃˇÊ¬Ù¥ ∑§ SÃê÷Ù¥ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞ —

(a) SflSÕ Ÿfl¡ÊÃ ∑§Ë ºπ÷Ê‹

(b) ¿UÙ≈ ’ìÊ •ÊÒ⁄ ◊Á„‹Ê•Ù¥ ◊¥ •flM§hÃÊ, •À¬-¬Ù·áÊ ÃÕÊ ⁄ÄÃÊÀ¬ÃÊ ‚ ’øÊfl

(c) Ÿfl¡ÊÃ Á‡Ê‡ÊÈ ∑§ ¡ËÁflÃ ⁄„Ÿ ‚ ¬⁄ ºπ÷Ê‹

(d) ª÷¸œÊ⁄áÊ ÃÕÊ ¡ã◊ ¬pÊÃ˜ ºπ÷Ê‹

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (a), (b) •ÊÒ⁄ (c) (C) ∑§fl‹ (c) •ÊÒ⁄ (d)

(D) ∑§fl‹ (b) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

113. Point R is 3 m. towards the East of point A.

Point S is 4 m. towards the South of point R.

Point H is 5 m. towards West of point S.

Point M is 4 m. towards North of point H.

Á’ãºÈ R, Á’ãºÈ A ∑§ ¬Ífl¸ ∑§Ë •Ê⁄ 3 ◊Ë. ¬⁄ „Ò–

Á’ãºÈ S, Á’ãºÈ R ∑§ ºÁˇÊáÊ ∑§Ë •Ê⁄ 4 ◊Ë. ¬⁄ „Ò–

Á’ãºÈ H, Á’ãºÈ S ∑§ ¬Áp◊ ∑§Ë •Ê⁄ 5 ◊Ë. ¬⁄ „Ò–

Á’ãºÈ M, Á’ãºÈ H ∑§ ©ûÊ⁄ ∑§Ë •Ê⁄ 4 ◊Ë. ¬⁄ „Ò–
Which of the following points are collinear points ?

ÁŸêŸ ◊¥ ‚ ∑§ıŸ ‚ Á’¢ºÈ ‚¢⁄πËÿ „Ò¥?
(A) A, R, S (B) A, R, H (C) A, R, M

(D) A, S, H (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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114. Match List-I with List-II :

List-I List-II

(a) Practice Play (i) Representational system develops

(b) Dramatic Play (ii) First stage of Smilansky’s play

(c) Symbolic Play (iii) Children use imagination

(d) Functional Play (iv) Major role of senses during play

‚ÍøË-I ∑§Ù ‚ÍøË-II  ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

(a) •èÿÊ‚ π‹ (i) ¬˝ÁÃÁŸÁœàfl √ÿflSÕÊ ∑§Ê Áfl∑§Ê‚

(b) ŸÊ≈∑§Ëÿ π‹ (ii) S◊Ê‹ãS∑§Ë π‹ ∑§Ë ¬˝Õ◊ •flSÕÊ

(c) ¬˝ÃË∑§Êà◊∑§ π‹ (iii) ’ìÊ ∑§À¬ŸÊ ∑§Ê ¬˝ÿÙª ∑§⁄Ã  „Ò¥

(d) ∑§ÊÿÊ¸à◊∑§ π‹ (iv) π‹ ∑§ ºı⁄ÊŸ ‚¢flºŸÊ•Ù¥ ∑§Ë ◊ÈÅÿ ÷ÍÁ◊∑§Ê

Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —

(A) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) (B) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(C) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (D) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

115. Identify from the following diseases which can be caused due to sedentary life style of a person.

(a) Rickets (b) Obesity (c) Thalassaemia

(d) Hypertension (e) Goiter

Choose the most appropriate answer from the options given below :

(A) (a), (e) and (d) only (B) (b), (c) and (e) only

(C) (b) and (d) only (D) (b), (c) and (d) only

(E) Question not attempted

ÁŸêŸ ◊¥ ‚ ©Ÿ ⁄ÙªÙ¥ ∑§Ù ¬„øÊÁŸ∞ ¡Ù ∞∑§ √ÿÁÄÃ ∑§ Á‡ÊÁÕ‹ ¡ËflŸ ‡ÊÒ‹Ë ∑§ ∑§Ê⁄áÊ „Ù ¡ÊÃ „Ò¥–

(a) Á⁄∑§≈˜‚ (b) ◊Ù≈Ê¬Ê (c) ÕÒ‹‚ËÁ◊ÿÊ

(d) ©ìÊ⁄ÄÃøÊ¬ (e) ÉÊ¥ÉÊÊ

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§fl‹ (a), (e) •ÊÒ⁄ (d) (B) ∑§fl‹ (b), (c) •ÊÒ⁄ (e)

(C) ∑§fl‹ (b) •ÊÒ⁄ (d) (D) ∑§fl‹ (b), (c) •ÊÒ⁄ (d)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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116. Match List-I with List-II :

List-I List-II

Behavioural variations Domain

(a) Delayed milestones (i) Cognitive

(b) Quiet and aloof (ii) Physical and motor

(c) Frequently asking questions (iii) Multiple domains Paediatricians

(d) Repeatative behaviours like banging (iv) Socio-emotional

‚ÍøË-I ∑§Ù ‚ÍøË-II ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË -I ‚ÍøË -II

√ÿfl„Ê⁄ ◊¥ Á÷ÛÊÃÊ∞° «UÙ◊Ÿ

(a) Áfl‹¢Á’Ã ◊Êß‹S≈ÙŸ (◊Ë‹ ∑§Ê ¬àÕ⁄) (i) ‚¢ôÊÊŸÊà◊∑§

(b) ‡ÊÊ¢Ã •ÊÒ⁄ •∑§‹Ê (ii) ‡ÊÊ⁄ËÁ⁄∑§ •ÊÒ⁄ ¬˝⁄∑§

(c) ’Ê⁄-’Ê⁄ ¬˝‡Ÿ ¬Í¿UŸÊ (iii) ’„È •ÊÿÊ◊Ë ’Ê‹ÁøÁ∑§à‚∑§

(d) ¬ÈŸ⁄ÊflÃË¸ √ÿfl„Ê⁄ ¡Ò‚ œ◊ ‚ ≈∑§⁄ÊŸÊ (iv) ‚Ê◊ÊÁ¡∑§ ‚¢flºÊà◊∑§
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (B) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(C) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) (D) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

117. When was the national Early Childhood Care and Education (ECCE) Policy approved by the
Government of India ?

⁄Êc≈˛UËÿ ¬˝Ê⁄¢Á÷∑§ ’ÊÀÿÊflSÕÊ ºπ÷Ê‹ •ÊÒ⁄ Á‡ÊˇÊÊ (ECCE) ŸËÁÃ ÷Ê⁄Ã ‚⁄∑§Ê⁄ mÊ⁄Ê ∑§’ ◊Êãÿ ∑§Ë ªÿË?
(A) 2013 (B) 2012 (C) 2014

(D) 2015 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

118. ‚ÍøË I ∑§ ‚ÊÕ ‚ÍøË II ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ —

‚ÍøË I ‚ÍøË II

flÊÄÿπá«U ∞∑§ ‡Êéº

(a) Á¡‚∑§ ‡Êπ⁄ ¬⁄ øãŒ˝ „Ù (i) ‡ÊÒfl

(b) ÁflcáÊÈ ∑§Ê ©¬Ê‚∑ (ii) ‚fl¸‡ÊÁÄÃ◊ÊŸ

(c) ¡Ù ‚fl¸‡ÊÁÄÃ ‚¢¬ÛÊ „Ò (iii) ø¢Œ˝‡Êπ⁄

(d) Á‡Êfl ∑§Ê ©¬Ê‚∑§ (iv) flÒcáÊfl

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) (B) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(C) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii) (D) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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119. Domains of development include :
(a) Physical and motor (b) Cognitive and moral
(c) Spiritual and evironmental (d) Socio-emotional and language
Choose the most appropriate answer from the options given below :
(A) (a), (b), (c) and (d) (B) (a) and (b) only
(C) (a), (b) and (d) only (D) (c) and (d) only
(E) Question not attempted

Áfl∑§Ê‚ ∑§ •ÊÿÊ◊Ù¥ ◊¥ ‚Áê◊Á‹Ã „Ò —
(a) ‡ÊÊ⁄ËÁ⁄∑§ •ÊÒ⁄ ¬˝⁄∑§ (◊Ù≈⁄) (b) ôÊÊŸÊà◊∑§ •ÊÒ⁄ ŸÒÁÃ∑§
(c) •ÊäÿÊÁà◊∑§ •ÊÒ⁄ ¬ÿÊ¸fl⁄áÊËÿ (d) ‚Ê◊ÊÁ¡∑§ - ‚¢flºÊà◊∑§ •ÊÒ⁄ ÷Ê·Ëÿ
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) (a), (b), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (a) •ÊÒ⁄ (b)
(C) ∑§fl‹ (a), (b) •ÊÒ⁄ (d) (D) ∑§fl‹ (c) •ÊÒ⁄ (d)
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

120. ‘SABLA’ Scheme which was launched by Ministry of Women and Child Development, Government
of India applies to :  (Select most appropriate option from below)
(A) all girls between the age group of 11 to 18 years.
(B) all the women between the age group of 19 to 25 years.
(C) all the girls between the age group of 6 to 18 years.
(D) all the women between the age group of 18 to 30 years.

(E) Question not attempted

‚’‹Ê (SABLA) ÿÙ¡ŸÊ ¡Ù Á∑§ ◊Á„‹Ê ∞fl¢ ’Ê‹ Áfl∑§Ê‚ ◊¢òÊÊ‹ÿ, ÷Ê⁄Ã ‚⁄∑§Ê⁄ mÊ⁄Ê ‡ÊÈM§ ∑§Ë ªÿË „Ò, ‹ÊªÍ „ÙÃË „Ò — (ÁŸêŸ
◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈŸ¥)
(A) 11 ‚ 18 fl·¸ ∑§ ◊äÿ •ÊÿÈ flª¸ ∑§Ë ‚÷Ë ‹«∏Á∑§ÿÙ¥ ¬⁄
(B) 19 ‚ 25 fl·¸ ∑§ ◊äÿ •ÊÿÈ flª¸ ∑§Ë ‚÷Ë ◊Á„‹Ê•Ù¥ ¬⁄
(C) 6 ‚ 18 fl·¸ ∑§ ◊äÿ •ÊÿÈ flª¸ ∑§Ë ‚÷Ë ‹«∏Á∑§ÿÙ¥ ¬⁄
(D) 18 ‚ 30 fl·¸ ∑§ ◊äÿ •ÊÿÈ flª¸ ∑§Ë ‚÷Ë ◊Á„‹Ê•Ù¥ ¬⁄
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

121. Which of the following do not come under the maintenance of public hygiene ?
(a) Proper disposal of waste and excreta (b) Keeping the body clean
(c) Disinfection of water reservoirs (d) Consuming clean drinking water
Choose the most appropriate answer from the options given below :
(A) (a) and (c) only (B) (b), (c) and (d) only (C) (b) and (d) only
(D) (a), (c) and (d) only (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ‚Ê ¡Ÿ‚ÊœÊ⁄áÊ Sflë¿UÃÊ ∑§ ⁄π⁄πÊfl ∑§ •ãÃª¸Ã Ÿ„Ë¥ •ÊÃÊ „Ò?
(a) •¬Á‡Êc≈U fl ◊‹ ∑§Ê ©ÁøÃ ÁŸc∑§Ê‚Ÿ (b) ‡Ê⁄Ë⁄ ∑§Ù ‚Ê»§ ⁄πŸÊ
(c) ¡‹Ê‡ÊÿÙ¥ ∑§Ê ∑§Ë≈ÊáÊŸ ‡ÊÙœŸ (d) ‚Ê»§ ¬ÿ ¡‹ ∑§Ê ©¬÷Ùª
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ∑§fl‹ (a) •ÊÒ⁄ (c) (B) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (b) •ÊÒ⁄ (d)
(D) ∑§fl‹ (a), (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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122. A started a business with ` 1,40,000 and after 5 months, B joined A as his partner. After a year, the
profit is divided in the ratio 2 : 3. What was B’s contribution in the capital ?

A Ÿ ∞∑§ √ÿfl‚Êÿ ` 1,40,000 ∑§Ë ‹ÊªÃ ‚ ‡ÊÈM§ Á∑§ÿÊ •ÊÒ⁄ ¬Ê°ø ◊Ê„ ’Êº B, A ‚ ‚Ê¤ÊºÊ⁄ ∑§ M§¬ ◊¥ ¡È«∏ ªÿÊ– ∞∑§ fl·¸
¬pÊÃ˜ ‹Ê÷ ∑§Ù 2 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ ’Ê°≈Ê ªÿÊ–  B ∑§Ë ¬Í°¡Ë ÿÙªºÊŸ Á∑§ÃŸÊ ÕÊ?

(A) ` 2,80,000 (B) ` 3,20,000 (C) ` 3,60,000

(D) ` 3,00,000 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

123. Put the following process of identifying children with disabilities in right sequence.

(a) Systematic observations

(b) Screening

(c) Comprehensive evaluation

(d) Examination for the presence of risk indicators and protective factors.

•ˇÊ◊ÃÊ•Ù¥ ∑§ ‚ÊÕ ’ìÊÙ¥ ∑§Ù ¬„øÊŸŸ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§ ÁŸêŸÁ‹ÁπÃ ø⁄áÊÙ¥ ∑§Ù ‚„Ë ∑˝§◊ ◊¥ √ÿflÁSÕÃ ∑§ËÁ¡∞ —

(a) √ÿflSÕÊªÃ˜ ÁŸª⁄UÊŸË/¬ÿ¸flˇÊáÊ

(b) ¡Ê°ø (S∑˝§ËÁŸ¢ª)

(c) √ÿÊ¬∑§ ◊ÍÀÿÊ¥∑§Ÿ

(d) πÃ⁄Ê ‚Íø∑§Ê¢∑§ •ÊÒ⁄ ’øÊfl ∑§Ê⁄∑§Ù¥ ∑§Ë ©¬ÁSÕÁÃ ∑§Ë ¡Ê°ø

Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) (a), (b), (d), (c) (B) (b), (c), (a), (d) (C) (c), (b), (d), (a)

(D) (b), (d), (a), (c) (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

124. Choose the most appropriate option to fill in the blank in the given sentence.

You’re out of breath. __________ ?

(A) Are you running (B) Have you run

(C) Have you been running (D) You had been running

(E) Question not attempted

125. ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ê¥ ◊¥ ‚ “•ÊÁº - •ÊºË” ‡Êéº-ÿÈÇ◊ ∑§Ê ‚’‚ ©¬ÿÈÄÃ •Õ¸ „Ò -

(A) ¬Ífl¸ - ‚◊SÃ (B) •Ê⁄ê÷ - •èÿSÃ (C) ßàÿÊÁº - ‚fl¸òÊ

(D) ‚Íÿ¸ - ‚◊ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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126. Which conclusion would follow on the basis of the given statements ?

Statements : (a) All circles are triangles. (b) No triangle is rectangle.

(c) All squares are rectangles.

Conclusions : (i) Some triangles are squares. (ii) Some triangles are circles.

(iii) Some squares are rectangles. (iv) Some squares are circles.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(A) Only (i) and (iv) follow (B) Only (i) and (ii) follow

(C) Only (ii) and (iii) follow (D) Only (iii) and (iv) follow

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÙ¥ ∑§ •ŸÈ‚Ê⁄ ∑§ıŸ-‚Ê ÁŸc∑§·¸ •ŸÈª◊Ÿ ∑§⁄ªÊ?

∑§ÕŸ — (a) ‚÷Ë flÎûÊ ÁòÊ÷È¡ „Ò¥– (b) ∑§Ùß¸ ÷Ë ÁòÊ÷È¡ •ÊÿÃ Ÿ„Ë¥ „Ò–

(c) ‚÷Ë flª¸ •ÊÿÃ „Ò¥–

ÁŸc∑§·¸ — (i) ∑È§¿U ÁòÊ÷È¡ flª¸ „Ò¥– (ii) ∑È§¿U ÁòÊ÷È¡ flÎûÊ „Ò¥–

(iii) ∑È§¿U flª¸ •ÊÿÃ „Ò¥– (iv) ∑È§¿U flª¸ flÎûÊ „Ò¥–

©¬⁄ÙÄÃ ∑§ÕŸÙ¥ ∑§ •Ê‹Ù∑§ ◊¥, ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ∑§fl‹ (i) •ÊÒ⁄ (iv) •ŸÈ‚⁄áÊ ∑§⁄¥ª (B) ∑§fl‹ (i) •ÊÒ⁄ (ii) •ŸÈ‚⁄áÊ ∑§⁄¥ª

(C) ∑§fl‹ (ii) •ÊÒ⁄ (iii) •ŸÈ‚⁄áÊ ∑§⁄¥ª (D) ∑§fl‹ (iii) •ÊÒ⁄ (iv) •ŸÈ‚⁄áÊ ∑§⁄¥ª

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

127. The pioneers of early childhood education in India does not include :

(A) Gijubhai Badheka (B) Tarabai  Modek (C) Maria Montessori

(D) Mira Ben (E) Question not attempted

÷Ê⁄Ã ◊¥ ¬˝Ê⁄¢Á÷∑§ ’ø¬Ÿ Á‡ÊˇÊÊ ∑§ ¬Ífl¸ •Ê⁄¢÷∑§Ù¥ ◊¥ ÁŸêŸ ◊¥ ‚ ∑§ıŸ ‚Áê◊Á‹Ã Ÿ„Ë¥ „Ò?

(A) ªË¡Í÷Êß¸ ’Êœ∑§Ê (B) ÃÊ⁄Ê’Êß¸ ◊Ùº∑§ (C) ◊ÊÁ⁄ÿÊ ◊Ù¥≈‚⁄Ë

(D) ◊Ë⁄Ê ’Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

128. ¡Ù ‡ÊéºÊ¢‡Ê ÿÊ •√ÿÿ Á∑§‚Ë ‡Êéº ∑§ ¬„‹ •Ê∑§⁄ ©‚∑§Ê Áfl‡Ê· •Õ¸ ¬˝∑§≈ ∑§⁄ÃÊ „Ò, ©‚ ÄÿÊ ∑§„Ã „Ò¥?

(A) ‚ª¸ (B) ©¬‚ª¸ (C) ¬˝àÿÿ

(D) ∑Î§º¢Ã (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

129. Match List-I with List-II :

List-I List-II

(a) Anarchy (i) Study of birds

(b) Ornithology (ii) Fear of water

(c) Congenital (iii) Absence of rule, law and order

(d) Hydrophobia (iv) By birth

Choose the most appropriate answer from the options given below :

(A) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv) (B) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(C) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) (D) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(E) Question not attempted
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130. Which mineral is required in the formation of DNA and cell membrane ?
(A) Calcium (B) Iron (C) Phosphorus
(D) Sodium (E) Question not attempted

DNA ÃÕÊ ∑§ÙÁ‡Ê∑§Ê Á¤ÊÑË ∑§ ÁŸ◊Ê¸áÊ ◊¥ ∑§ıŸ ‚ πÁŸïÊ ∑§Ë •Êfl‡ÿ∑§ÃÊ „ÙÃË „Ò?
(A) ∑Ò§ÁÀ‡Êÿ◊ (B) ‹ı„ (•Êÿ⁄Ÿ) (C) »§ÊÚS»§Ù⁄‚
(D) ‚ÙÁ«Uÿ◊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

131. ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ‚¢ÿÈÄÃ Á∑˝§ÿÊ ∑§Ê ÷º Ÿ„Ë¥ „Ò -
(A) •Ê⁄¢÷’Ùœ∑§ (B) ‚◊ÊÁåÃ’Ùœ∑§ (C) ÷Êfl’Ùœ∑§
(D) •fl∑§Ê‡Ê’Ùœ∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

132. Given below are two statements :
Statement I : Depending on the height and pre-pregnant weight of the woman, there is an

increase in body weight from 11 to 15 kg in pregnant woman.
Statement II : The levels of glucocorticoids, thyroxine, aldosterone and parathormone increase

during pregnancy.
In the light of the above statements, choose the most appropriate answer from the options given
below.
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
(E) Question not attempted

ŸËø ºÙ ∑§ÕŸ ÁŒ∞ ª∞ „Ò¥ —
∑§ÕŸ I — ◊Á„‹Ê ∑§Ë ‹ê’Êß¸ •ÊÒ⁄ ¬Ífl¸ ª÷Ê¸flSÕÊ fl¡Ÿ ∑§ •ÊœÊ⁄ ¬⁄, ª÷¸flÃË  ◊Á„‹Ê ∑§ ‡Ê⁄Ë⁄ ∑§ fl¡Ÿ ◊¥ 11 ‚

15 Á∑§. ª˝Ê. ∑§Ë flÎÁh „ÙÃË „Ò–
∑§ÕŸ II — ª÷Ê¸flSÕÊ ∑§ ºı⁄ÊŸ Ç‹Í∑§Ù∑§ÙÁ≈¸∑§ÊÚÿ«˜‚, ÕÊÿ⁄ÙÄ‚ËŸ, ∞À«UÙS≈⁄ÙŸ •ÊÒ⁄ ¬Ò⁄ÊÕÙ◊Ù¸Ÿ ∑§Ê SÃ⁄ ’…U∏ ¡ÊÃÊ „Ò–
©¬⁄ÙÄÃ ∑§ÕŸ ∑§ •Ê‹Ù∑§ ◊¥, ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ ∑§Ê øÿŸ ∑§ËÁ¡∞ —
(A) ∑§ÕŸ I •ÊÒ⁄ II ºÙŸÙ¥ ‚„Ë „Ò¥–
(B) ∑§ÕŸ I •ÊÒ⁄ II ºÙŸÙ¥ ª‹Ã „Ò¥–
(C) ∑§ÕŸ I ‚„Ë „Ò, ‹Á∑§Ÿ ∑§ÕŸ II ª‹Ã „Ò–
(D) ∑§ÕŸ I ª‹Ã „Ò, ‹Á∑§Ÿ ∑§ÕŸ II ‚„Ë „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

133. Marasmus in children is caused by the severe deficiency of :
(A) Proteins and calories (B) Vitamin A and carbohydrates
(C) Only proteins (D) Vitamin D and calories
(E) Question not attempted

’ìÊÙ¥ ◊¥ ◊⁄ÊS◊‚ ⁄Ùª __________ ∑§Ë ª¥÷Ë⁄U ∑§◊Ë ∑§ ∑§Ê⁄áÊ „ÙÃÊ „Ò–
(A) ¬˝Ù≈Ëã‚ ÃÕÊ ∑Ò§‹Ù⁄ËïÊ (B) Áfl≈ÊÁ◊Ÿ-∞ ÃÕÊ ∑§Ê’Ù¸„Êß«˛≈˜‚
(C) ∑§fl‹ ¬˝Ù≈Ëã‚ (D) Áfl≈ÊÁ◊Ÿ-«UË •ÊÒ⁄ ∑Ò§‹Ù⁄ËïÊ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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134. A, E, H, K, R, S are sitting around a circular table facing the centre. H sits to the immediate right of
R. K sits second to the left of R. A sits second to the right of E. Who sits third to the right of A ?

A, E, H, K, R, S ªÙ‹Ê∑§Ê⁄ ◊¡ ∑§ øÊ⁄Ù¥ •Ê⁄ ∑§ãŒ˝ ∑§Ë Ã⁄»§ ø„⁄Ê ∑§⁄∑§ ’Ò∆ „È∞ „Ò¥– H, R ∑§ ÃÈ⁄ãÃ ºÊ°ÿ¥ ◊¥ ’Ò∆Ê „È•Ê „Ò–  K,
R ∑§ ’Ê°ÿ¥ ◊¥ ºÍ‚⁄ SÕÊŸ ¬⁄ „Ò–  A, E ∑§ ºÊ°ÿ ◊¥ ºÍ‚⁄ SÕÊŸ ¬⁄ „Ò–  A ∑§ ºÊ°ÿ¥ ◊¥ ÃË‚⁄ SÕÊŸ ¬⁄ ∑§ıŸ ’Ò∆UÊ „Ò?
(A) E (B) K (C) H

(D) S (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

135. Match List-I with List-II :

List-I List-II

Vitamins Deficiency disease

(a) Vitamin B
1

(i) Ariboflavinosis

(b) Vitamin B
3

(ii) Scurvy

(c) Vitamin C (iii) Beri-Beri

(d) Vitamin B
2

(iv) Pellagra

‚ÍøË-I ∑§Ù ‚ÍøË-II ‚ ‚È◊Á‹Ã ∑§ËÁ¡∞ —

‚ÍøË-I ‚ÍøË-II

Áfl≈ÊÁ◊Ÿ •÷Êfl¡ãÿ ⁄Ùª

(a) Áfl≈ÊÁ◊Ÿ B
1

(i) •⁄Êß’Ùç‹ÁflŸÙÁ‚‚

(b) Áfl≈ÊÁ◊Ÿ B
3

(ii) S∑§flË¸

(c) Áfl≈ÊÁ◊Ÿ C (iii) ’⁄Ë-’⁄Ë

(d) Áfl≈ÊÁ◊Ÿ B
2

(iv) ¬‹Êª˝
Choose the most appropriate answer from the options given below :

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈÁŸ∞ —
(A) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) (B) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(C) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) (D) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

136. At 40 past 4 in the evening, the smaller angle between the hour and minute hands of a clock is :

‡ÊÊ◊ ∑§Ù 4 ’¡∑§⁄ 40 Á◊Ÿ≈U ¬⁄, ÉÊ«∏Ë ∑§ ÉÊ¢≈ fl Á◊Ÿ≈ ∑§ ‚ÍßÿÙ¥ ∑§ ◊äÿ ¿UÙ≈ ∑§ÙáÊ ∑§Ê ◊ÊŸ „ÙªÊ —
(A) 858 (B) 908 (C) 958

(D) 1008 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

137. Find the greatest from the following options :

14.28% of 700, 11.11% of 819, 9.09% of 704, 6.25% of 960

(A) 14.28% of 700 (B) 11.11% of 819 (C) 9.09% of 704

(D) 6.25% of 960 (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ flÎ„ºÃ◊ ◊ÊŸ flÊ‹ Áfl∑§À¬ ∑§Ê øÿŸ ∑§ËÁ¡∞ —

700 ∑§Ê 14.28%, 819 ∑§Ê 11.11%, 704 ∑§Ê 9.09%, 960 ∑§Ê 6.25%

(A) 700 ∑§Ê 14.28% (B) 819 ∑§Ê 11.11% (C) 704 ∑§Ê 9.09%

(D) 960 ∑§Ê 6.25% (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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138. On a certain sum, the difference between compound interest and simple interest at 10% p.a. for
2 years is ` 126. Find the sum. (in `).

∞∑§ ÁŸÁpÃ œŸ ⁄ÊÁ‡Ê ¬⁄ 2 fl·¸ ∑§Ë ‚◊ÿÊflÁœ ∑§ Á‹∞ 10% ¬˝ÁÃ fl·¸ ∑§Ë º⁄ ¬⁄ ø∑˝§flÎÁh éÿÊ¡ •ÊÒ⁄ ‚ÊœÊ⁄áÊ éÿÊ¡ ∑§Ê •ãÃ⁄
` 126 „Ò– œŸ ⁄ÊÁ‡Ê ôÊÊÃ ∑§ËÁ¡∞ (M§¬ÿ ◊¥)–
(A) ` 12,000 (B) ` 12,600 (C) ` 16,200

(D) ` 10,800 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

139. The effects of Iodine deficiency during pregnancy include : (Choose the most appropriate option)

(A) mental retardation of the pregnant woman.

(B) congenital abnormalities in the pregnant woman.

(C) mental retardation and congenital abnormalities of the foetus.

(D) mental retardation as well as congenital abnormalities in the pregnant woman.

(E) Question not attempted

ª÷Ê¸flSÕÊ ◊¥ •ÊÿÙ«UËŸ ∑§Ë ∑§◊Ë ∑§ ¬˝÷Êfl ◊¥ ‚Áê◊Á‹Ã „Ò — (ÁŸêŸ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U øÈŸ¥)

(A) ª÷¸flÃË ◊Á„‹Ê ∑§Ë ◊ÊŸÁ‚∑§ ◊¢ºÃÊ

(B) ª÷¸flÃË ◊Á„‹Ê ◊¥ ¡ã◊¡ÊÃ •‚Ê◊ÊãÿÃÊ∞°

(C) ÷˝ÍáÊ ∑§Ë ◊ÊŸÁ‚∑§ ◊¢ºÃÊ •ÊÒ⁄ ¡ã◊¡ÊÃ •‚Ê◊ÊãÿÃÊ∞°

(D) ª÷¸flÃË ◊Á„‹Ê ◊¥ ◊ÊŸÁ‚∑§ ◊¢ºÃÊ •ÊÒ⁄ ¡ã◊¡ÊÃ •‚Ê◊ÊãÿÃÊ∞°

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

140. Which of the following may be the consequences of sensory impairments ?

(a) Difficulty in interacting with the environment.

(b) Slowed development of language.

(c) Occurrence of  hereditary problems.

(d) Slowed socio-emotional development.

Choose the most appropriate answer from the options given below :

(A) (a), (b), (c) and (d) (B) (b), (c) and (d) only (C) (a), (b) and (d) only

(D) (c) and (d) only (E) Question not attempted

ÁŸêŸ ◊¥ ‚ ‚¢flºË òÊÈÁ≈ ∑§ ¬Á⁄áÊÊ◊ ÄÿÊ „Ù ‚∑§Ã „Ò?

(a) flÊÃÊfl⁄áÊ/¬Á⁄fl‡Ê ‚ ¬⁄S¬⁄ Á∑˝§ÿÊ ◊¥ ∑§Á∆ŸÊß¸

(b) ◊¢º ÷Ê·Ê Áfl∑§Ê‚

(c) •ÊŸÈflÊ¢Á‡Ê∑§Ë ‚◊SÿÊ ∑§Ê ÉÊÁ≈UÃ „ÙŸÊ

(d) ◊¢º ‚Ê◊ÊÁ¡∑§ - ‚¢flºÊà◊∑§ Áfl∑§Ê‚

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) (a), (b), (c) •ÊÒ⁄ (d) (B) ∑§fl‹ (b), (c) •ÊÒ⁄ (d) (C) ∑§fl‹ (a), (b) •ÊÒ⁄ (d)

(D) ∑§fl‹ (c) •ÊÒ⁄ (d) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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141. Read the following information carefully to choose the most appropriate answer for the question.
‘X+Y’ means that ‘X is sister of Y’.
‘X÷Y’ means that ‘X is daughter-in-law of Y’.
‘X * Y’ means that ‘X is husband of Y’.
‘X−Y’ means that ‘X is wife of Y’.

¬˝‡Ÿ ∑§ Á‹∞ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄Ÿ ∑§ Á‹∞ ŸËø ºË ªÿË ¡ÊŸ∑§Ê⁄Ë ∑§Ù äÿÊŸ¬Ífl¸∑§ ¬Á…U∏∞–
“X+Y” ∑§Ê •Õ¸ „Ò Á∑§  X, Y ∑§Ë ’„Ÿ „Ò–
 “X÷Y” ∑§Ê •Õ¸ „Ò Á∑§ X, Y ∑§Ë ’„È „Ò–
 “X * Y” ∑§Ê •Õ¸ „Ò Á∑§ X, Y ∑§Ê ¬ÁÃ „Ò–
 “X−Y” ∑§Ê •Õ¸ „Ò Á∑§ X, Y ∑§Ë ¬àŸË „Ò–
Which of the following means A is the son of M ?

ÁŸêŸ ◊¥ ‚ Á∑§‚∑§Ê •Õ¸ „Ò Á∑§ A, M ∑§Ê ¬ÈòÊ „Ò?
(A) A÷U+J * M (B) A * U÷J * M (C) A−U÷J * M

(D) A * U+J−M (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

142. What sum as given below will become ` 11,780 in 3 years at 8% p.a. simple interest ?

8% ¬˝ÁÃfl·¸ ‚ÊœÊ⁄áÊ éÿÊ¡ Œ⁄U ∑§Ë ªáÊŸÊ ‚ 3 fl·¸ ∑§ ‚◊ÿ∑§Ê‹ ◊¥ ÁŸêŸ ◊¥ ‚ Á∑§ÃŸË œŸ⁄ÊÁ‡Ê ` 11,780 „Ù ¡Ê∞ªË?
(A) ` 8500 (B) ` 9000 (C) ` 9500

(D) ` 9600 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

143. Fill in the blank in the sentence given by choosing the most appropriate word/words from the
options given below :
The meeting will be held __________ the low attendance.
(A) even when (B) although (C) even if
(D) inspite of (E) Question not attempted

144. ‡ÊéºÙ¥ ∑§ •¢Ã ◊¥ ‹ªŸ flÊ‹ ‡ÊéºÊ¢‡Ê ∑§Ù ÄÿÊ ∑§„Ã „Ò¥?
(A) ©¬‚ª¸ (B) œÊÃÈ (C) ∑§◊¸
(D) ¬˝àÿÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

145. Which of the following is NOT the most appropriate example of fine motor development during  3
to 6 years of age ?
(A) Putting on clothes properly
(B) Catching a bounced ball.
(C) Managing a spoon and fork properly while eating.
(D) Drawing a circle, square, triangle.

(E) Question not attempted

ÁŸêŸ ◊¥ ‚ ∑§ıŸ ‚Ê 3 ‚ 6 fl·¸ Ã∑§ ∑§Ë •ÊÿÈ ∑§ ºı⁄ÊŸ ‚Íˇ◊ ¬˝⁄U∑§ Áfl∑§Ê‚ (»§ÊßŸ ◊Ù≈⁄ «Ufl‹¬◊ã≈) ∑§Ê ∞∑§ ‚’‚
©¬ÿÈÄÃ ©ºÊ„⁄áÊ Ÿ„Ë¥ „Ò?
(A) ∑§¬«∏Ù¥ ∑§Ù ©ÁøÃ ¬˝∑§Ê⁄ ‚ ¬„ŸŸÊ
(B) ∞∑§ ©¿U‹ÃË „Èß¸ ’ÊÚ‹ ∑§Ù ¬∑§«∏ŸÊ
(C) πÊŸÊ πÊÃ ‚◊ÿ øê◊ø fl ∑§Ê°≈ ∑§Ê Ã⁄UË∑§ ‚ ¬˝ÿÙª
(D) ∞∑§ flÎûÊ, flª¸, ÁòÊ÷È¡ ∑§Ê •Ê⁄π πË¥øŸÊ (’ŸÊŸÊ)
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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146. Expand DPT, select correct answer :
(A) Diphtheria Pertussis Tetanus
(B) Diphtheria Pneumonia Tetanus
(C) Diphtheria Pneumonia Tuberculosis
(D) Dengue Pertussis Tuberculosis
(E) Question not attempted

“DPT” ∑§Ê ÁflSÃÊ⁄ ∑§ËÁ¡∞, ‚„Ë ©ûÊ⁄U øÈŸ¥ —
(A) Á«UçÕËÁ⁄ÿÊ ¬≈Í¸Á‚‚ Á≈U≈Ÿ‚
(B) Á«UçÕËÁ⁄ÿÊ ãÿÍ◊ÙÁŸÿÊ Á≈U≈Ÿ‚
(C) Á«UçÕËÁ⁄ÿÊ ãÿÍ◊ÙÁŸÿÊ ≈KÍ’⁄∑È§‹ÊÁ‚‚
(D) «¥UªÍ ¬≈Í¸Á‚‚ ≈KÍ’⁄∑È§‹ÊÁ‚‚
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

147. For the sentence given below, choose the most appropriate answer in its comparative degree from
the options provided.
No other State in India is as clean as Kerala.
(A) Kerala is the cleanest State in India.
(B) Kerala is cleaner than any other State in India.
(C) Kerala is very clean.
(D) All other States are not as clean as Kerala.
(E) Question not attempted

148. Which of the following are not the beneficiary of an Anganwadi ?
(A) Pregnant mothers (B) Senior citizens (C) Children (0-6 years)
(D) Nursing mothers (E) Question not attempted

ÁŸêŸ ◊¥ ‚ ∑§ıŸ •Ê°ªŸflÊ«∏Ë ∑§Ê ‹Ê÷ÊÕË¸ Ÿ„Ë¥ „Ò?
(A) ª÷¸flÃË ◊Á„‹Ê∞° (B) flÁ⁄c∆U ŸÊªÁ⁄∑§ (C) ’ìÊ (0-6 fl·¸)
(D) SÃŸ¬ÊŸ ∑§⁄ÊŸ flÊ‹Ë ◊ÊÃÊ∞° (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

149. In a college election between two candidates, one candidate got 45% of the total valid votes. 20%
of the votes were invalid. If the total votes were 14,500, then what is the number of valid votes
which the other candidate got ?

∞∑§ ◊„ÊÁfllÊ‹ÿ ◊¥ ºÙ ¬˝àÿÊÁ‡ÊÿÙ¥ ∑§ ◊äÿ øÈŸÊfl ◊¥ ∞∑§ ¬˝àÿÊ‡ÊË ∑§Ù ∑È§‹ ◊Êãÿ flÙ≈Ù¥ ∑§Ê 45% ¬˝ÊåÃ „È•Ê–  20% flÙ≈
•◊Êãÿ Õ– ÿÁº ∑È§‹ flÙ≈ 14,500 Õ, ÃÙ •ãÿ ¬˝àÿÊ‡ÊË ∑§Ù ◊Êãÿ flÙ≈Ù¥ ∑§Ë Á∑§ÃŸË ‚¢ÅÿÊ ¬˝ÊåÃ „Èß¸?
(A) 6,380 (B) 5,220 (C) 6,525

(D) 7,975 (E) Question not attempted / •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

150. Choose the most appropriate reported form of the sentence given from the options provided.
The manager said, “Is Mira leaving early ?”
(A) The manager asked if  Mira was leaving early.
(B) The manager inquired if Mira is going to leave early.
(C) The manager demanded to know if Mira was leaving early.
(D) The manager said whether Mira was leaving early.
(E) Question not attempted

- o O o -
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SPACE FOR ROUGH WORK / ⁄U»§ ∑§Êÿ¸ ∑§ Á‹∞ SÕÊŸ



❀ B62 40

SPACE FOR ROUGH WORK / ⁄U»§ ∑§Êÿ¸ ∑§ Á‹∞ SÕÊŸ

©ûÊ⁄U ¬òÊ∑§ ◊¥ ŒÊ ¬˝ÁÃÿÊ° „Ò¥ - ◊Í‹ ¬˝ÁÃ •ÊÒ⁄U ÁmÃËÿ ¬˝ÁÃ, ¬⁄UËˇÊÊ ‚◊ÊÁåÃ ¬⁄U ¬⁄UËˇÊÊ ∑§ˇÊ ¿UÊ«∏Ÿ ‚ ¬Ífl¸ ¬⁄UËˇÊÊÕË¸ ©ûÊ⁄U ¬òÊ∑§ ∑§Ë ŒÊŸÊ¥ ¬˝ÁÃÿÊ° flËˇÊ∑§
∑§Ê ‚ÊÒ¬¥ª, ¬⁄UËˇÊÊÕË¸ Sflÿ¥ ÁmÃËÿ ¬˝ÁÃ ∑§Ê •‹ª Ÿ„Ë¥ ∑§⁄¥U– flËˇÊ∑§ mÊ⁄UÊ ©ûÊ⁄U ¬òÊ∑§ ∑§Ë ◊Í‹ ¬˝ÁÃ ∑§Ê •¬Ÿ ¬Ê‚ ¡◊Ê ∑§⁄U, ÁmÃËÿ ¬˝ÁÃ ∑§Ê ◊Í‹ ¬˝ÁÃ
‚ ∑§≈U ‹ÊßŸ ‚ ◊Ê«∏ ∑§⁄U ‚ÊflœÊŸË¬Ífl¸∑§ •‹ª ∑§⁄U ¬⁄UËˇÊÊÕË¸ ∑§Ê ‚ÊÒ¬¥ª– ¬⁄UËˇÊÊÕË¸ ÁmÃËÿ ¬˝ÁÃ ∑§Ê •¬Ÿ ‚ÊÕ ‹ ¡Êÿ¥ª–


